
TET cum TRT 

SGT – 19-01-2019 (S1) 

 

1. The number of States and Union Territories in India at present 
respectively are 

 uó²sÁÔá<ûXø+ýË ç|�d�TïÔá s�çcÍ¼\T, ¹¿+ç<�bÍ*Ôá çbÍ+Ô�\ d�+K«\T esÁTd�>± 

 1. 30, 6 

 2. 29, 7 

 3. 28, 8 

 4. 27, 6 

 

2. “Bt” in Bt Cotton is a kind of  

 1. Bacterium 

 2. Begonia 

 3. Batrachospermum 

 4. Algae 

 “Bt” ç|�ÜïýË� Bt ÿ¿£ sÁ¿£yîT®q 

 1. u²¿¡¼]jáT+ 

 2. _>Ã�jáT 

 3. u²ç³¿Ã�dÎsÁ�y�T 

 4. XèÕe\eTT 

  

win
Oval

win
Oval

win
Oval



3. The expanded form of IOT is 

 1. Internet of Things 

 2. Internet on Things 

 3. Internet other Things 

 4. Internet own Things 

  IOT � $d�ï]+#á>± 

 1. �+³Âs�{Ù �|�t ~¸+>´à 

 2. �+³Âs�{Ù �H� ~¸+>´à 

 3. �+³Âs�{Ù n<�sY ~¸+>´à 

 4. �+³Âs�{Ù zH� ~¸+>´à 

 

4. This is an important heat-trapping greenhouse gas 

 yû&�� |�{ì¼ �+#û ç|�<ó�q V�²]Ôá >·�V�² y�jáTTeÚ 

 1. SO2 

 2. P2O5 

 3. NO2  

 4. CO2 

 

 

 

 

 

  

win
Oval

win
Oval

win
Oval



5. The National bird of India is 

 1. White Pigeon 

 2. Parrot 

 3. Peacock 

 4. Eagle 

 uó²sÁÔá C²rjáT |�¿ì� 

 1. Ôî\¢ bÍeÚsÁ+ 

 2. º\T¿£ 

 3. eTjáTÖsÁ+ (HîeT*) 

 4. ç>·<�Æ 

 

6. ‘Marco Polo’ visited India during the reign of 

 1. Pandyas 

 2. Cholas 

 3. Vijayanagara Kings 

 4. Vadayars 

 eÖsÃØbþýË uó²sÁÔá<ûXæ�� M] ¿±\+ýË d�+<�]ô+#�sÁT 

 1. bÍ+&�«s�E\T 

 2. #ÃÞøs�E\T 

 3. $ÈjáTq>·sÁ s�E\T 

 4. e&�jáÖsÁT¢ 

 

 

 

win
Oval

win
Oval

win
Oval

win
Oval



7. This Indian was awarded Nobel Prize in 1979 

 1. Sir C.V. Raman 

 2. Rabindranadh Tagore 

 3. Mother Teresa  

 4. Vijayalakshmi Pandit 

 uó²sÁÔá<ûXø+ýË 1979ýË HÃuÉýÙ �V�QeTÜ ç>·VÓ²Ôá  

 1. d�sY d¾.$. s�eTH� 

 2. sÁM+ç<�H�<�̧ sÄ�>·ÖsY 

 3. eT<�sY <î̧]kÍà 

 4. $ÈjáT\¿¡ë |�+&�{Ù 

 

8. The Chairman and members of National Human Rights Commission 
are appointed by  

 1. The Prime Minister of India 

 2. The Supreme Court Chief Justice of India 

 3. The Vice-President of India 

 4. The President of India 

 C²rjáT eÖqe V�²Å£�Ø\ ¿£MTw�H� #óîÕsÁ�H� eT]jáTT d�uó�T«\T M]#û 

�jáT$T+|��&�Ô�sÁT. 

 1. uó²sÁÔá ç|�<ó�qeT+çÜ 

 2. uó²sÁÔá d�Tç|Ó+ ¿ÃsÁT¼ ç|�<ó�q H�«jáTeTÖ]ï 

 3. uó²sÁÔá �|�s�çw�¼|�Ü 

 4. uó²sÁÔá s�çw�¼|�Ü 

 

 

win
Oval

win
Oval

win
Oval

win
Oval



9. ‘Bharatanatyam’ is a classical dance of this State 

 1. Kerala 

 2. Tamil Nadu 

 3. Karnataka 

 4. Odisha 

 uó�sÁÔáH�³«+ � s�çcÍ¼�¿ì #î+~q kÍ+ç|�<�jáT q�Ôá«+ 

 1. ¹¿sÁÞø 

 2. Ôá$TÞøH�&�T 

 3. ¿£s��³¿£ 

 4. ÿ&�kÍ 

 

10. The Highest Civilian Award in India is  

 1. Param Vir Chakra 

 2. Bharat Ratna 

 3. Padma Vibhushan 

 4. Arjuna Award 

 uó²sÁÔá<ûXø nÔáT«q�Ôá båsÁ|�ÚsÁkÍØsÁ+ 

 1. |�sÁeTMsÁ#áç¿£ 

 2. uó²sÁÔá sÁÔá� 

 3. |�<�� $uó�Öw�DY 

 4. nsÁT¨q ny�sÁT¦ 

 

 

 

 

 

win
Oval

win
Oval

win
Oval

win
Oval



11. The National Water Board was constituted in 

 C²rjáT È\ uËsÁT¦ @s�Î³T ¿±�&�q d�+eÔáàsÁ+ 

 1. 1986 

 2. 1975 

 3. 1995 

 4. 1990 

 

12. Harappa was first discovered by 

 1. R. D. Banerjee 

 2. R. B. Daya Ram Sahni 

 3. M. G. Majumdar  

 4. B. B. Lal 

 V�²sÁbÍÎqT yîTT<�³ ¿£qT>=�qy�sÁT 

 1. �sY. &�. uÉq ¨̄ 

 2. �sY. _. <�jáÖs�+ kÍV¾²� 

 3. m+. �. eTTE+<�sY 

 4. _. _. ý²ýÙ 

  

win
Oval

win
Oval

win
Oval



13. The author of ‘Panchatantra’ was  

 1. Varahamitra 

 2. Aryabhatta 

 3. Vishnu Sharma 

 4. Dhanvantri 

 |�+#áÔá+çÔá sÁ#ásTTÔá 

 1. es�V�²$TçÔá 

 2. �sÁ«uó�³¼ 

 3. $w�§�XøsÁ� 

 4. <ó�qÇ+Ôá] 

 

14. One of the ‘Navratnas’ and Finance Minister in Akbar’s court was 

 1. Raja Man Singh 

 2. Tansen 

 3. Abul Fazal 

 4. Raja Todarmal 

 n¿£ÒsÁT �kÍ�q+ýË qesÁÔ��\ýË ÿ¿£sÁT eT]jáTT �]�¿£ eT+çÜ 

 1. s�È eÖH� d¾+>´ 

 2. Ô�H��dH� 

 3. n�TýÙ |��ÈýÙ 

 4. s�È ÔÃ&�sYeTýÙ 

 

 

 

 

win
Oval

win
Oval

win
Oval

win
Oval



15. This Indian born was appointed as the Chief Economist of the 
International Monetary Fund on October 3, 2018 

 1. Gita Gopinath 

 2. Rikako Ikee 

 3. Harman Preet Kaur 

 4. Anisha Mohammed 

 n+Ôás�¨rjáT eÖ�³¯ |��+&�Å£� n¿Ã¼�sÁT 3, 2018q �jáT$T+|��&�q uó²sÁÔá 

d�+ÔáÜ¿ì #î+~q e«¿ìï 

 1. ^Ô� >Ã|ÓH�<�̧ 

 2. ]¿±¿Ã ×¿ì 

 3. V�²sÁ�H� ç|ÓÔY ¿�sY 

 4. núcÍ yîTTV�²eT�<� 

 

16. Nelakurthi Sikki Reddy won this National Sports Award in 2018 

 1. Rajiv Gandhi Khel Ratna 

 2. Dronacharya Award 

 3. Arjuna Award 

 4. Dhyan Chand Award 

 Hû\Å£�]ï d¾¿ìØ Âs&�¦ 2018ýË bõ+~q C²rjáT ç¿¡&� ny�sÁT¦ 

 1. s�Jy� >±+Bó UñýÙ sÁÔá� 

 2. ç<ÃD²#�sÁ« ny�sÁT¦ 

 3. nsÁT¨q ny�sÁT¦ 

 4. <ó�«H� #á+<� ny�sÁT¦ 

 

 

 

win
Oval

win
Oval

win
Oval

win
Oval



17. This is a Renewable Source of Energy 

 1. Coal 

 2. Solar energy 

 3. Petroleum 

 4. Nuclear energy 

 |�ÚqsÁTÔ�Î<�¿£ Xø¿ìï eqsÁT 

 1. u¤>·TZ 

 2. kåsÁXø¿ìï 

 3. �|ç{Ë*jáT+ 

 4. nDTXø¿ìï 

 

18. The Prime Minister Narendra Modi and the President of this country, 
bagged UN Green Award for their efforts on International Solar 
Alliance 

 1. Austria 

 2. Germany 

 3. Russia 

 4. France 

 n+Ôás�¨rjáT kåsÁÅ£L³$T�|Õ #ûd¾q ¿£�w¾¿ì ç|�<ó�qeT+çÜ q¹s+ç<� yîÖ&�ÔÃ bÍ³T

� <ûXæ<ó�«Å£��&�T Å£L&� ×¿£«s�È«d�$TÜ V�²]Ôá �y�sÁT¦qT bõ+<�sÁT.  
 

 1. �çd¾¼jáÖ 

 2. ÈsÁ�ú 

 3. sÁcÍ« 

 4. çb�ÍH�à 

 

 

win
Oval

win
Oval

win
Oval

win
Oval



19. The President of India can impose President’s rule in any State 
according to this Article 

 1. Article 356 

 2. Article 352 

 3. Article 360  

 4. Article 350 

uó²sÁÔá s�çw�¼|�Ü � n~ó¿£sÁD <�Çs� s�çw�¼|�Ü bÍ\qqT @ s�çw�¼+ýËHîÕH�  

$~ó+#áe#áTÌ 

 1. 356e n~ó¿£sÁD 

 2. 352e n~ó¿£sÁD 

 3. 360e n~ó¿£sÁD 

 4. 350e n~ó¿£sÁD 

 

20. When did India’s Industrial Production grew at 6.6%? 

 1. April 2018 

 2. January 2018 

 3. July 2018 

 4. October 2018 

 uó²sÁÔá<ûXø bÍ]çXæ$T¿£ �ÔáÎÜï 6.6%Å£� m|�ð&�T #û]+~? 

 1. @ç|¾ýÙ 2018 

 2. Èqe] 2018 

 3. EýÉÕ 2018 

 4. n¿Ã¼�sÁT 2018 

  

win
Oval

win
Oval

win
Oval

win
Oval



21. Pre-Primary Education was first suggested by this Committee / 
Commission 

 1. Hartog Committee 

 2. Sargent Committee 

 3. Sadler Committee 

 4. Wood’s Dispatch 

 |�PsÁÇ çbÍ<�̧$T¿£ $<�«qT yîTT<�³ d�Öº+ºq ¿£$T{¡ / ¿£MTw�H� 

 1. V�äs�¼>´ ¿£$T{¡ 

 2. kÍsÁ̈+{Ù ¿£$T{¡ 

 3. kÍ&�¢sY ¿£$T{¡ 

 4. �&�à &�kÍÎ#Y 

 

22. Mudaliar Commission was also called as 

 1. University Education Commission 

 2. Basic Education Commission 

 3. Secondary Education Commission  

 4. Indian Education Commission 

 yîTT<�*jáÖsY ¿£MTw�H� �ý² Å£L&� |¾\Te�&�TÔáT+~. 

 1. $XøÇ$<�«\jáT $<�« ¿£MTw�H� 

 2. uñd¾¿ù $<�« ¿£MTw�H� 

 3. �d¿£+&�̄  $<�« ¿£MTw�H� 

 4. uó²sÁrjáT $<�« ¿£MTw�H� 

  

win
Oval

win
Oval

win
Oval

win
Oval



23. According to 2011 provisional census, the State which has a 
population of 8.58% in India’s total population is  

 1. Bihar 

 2. Madhya Pradesh 

 3. Maharashtra 

 4. Uttar Pradesh  

 2011 çbõ$�qýÙ >·D²+¿±\ ç|�¿±sÁ+, uó²sÁÔá<ûXø yîTTÔáï+ ÈH�uó²ýË 8.58% 

ÈH�uó² >·\ s�çw�¼+ 

 1. ;V�äsY 

 2. eT<ó�«ç|�<ûXÙ 

 3. eTV�äs�çw�¼ 

 4. �ÔáïsÁç|�<ûXÙ 

 

24. Nali Kali method was first started in this district with a view to 
impart systematic education in schools. 

 1. Mysore 

 2. Mandya 

 3. Tiruchunapalli 

 4. Kottayam 

 bÍsÄÁXæ\ýË¢ ÿ¿£ ç¿£eTyîT®q $<�«qT �y�Ç\Hû <��w¾¼ÔÃ q[ ¿£[ |�<�ÆÜ�  

yîTT³¼yîTT<�{ìkÍ]>± � �ý²¢ýË çbÍsÁ+_ó+#�sÁT. 

 1. yîT®d�ÖsY  

 2. eT+&�« 

 3. ÜsÁT#áTH�|�*¢ 

 4. ¿={²¼jáT+ 

 
 

win
Oval

win
Oval

win
Oval

win
Oval



25. Arteriosclerosis is  

 1. Softening of arteries 

 2. Hardening of arteries 

 3. Sagging of arteries 

 4. Shrinking of arteries 

 � ¼̄]jîÖdÓ¢ ØsÃd¾dt nq>± 

 1. <ó�eTqT\T yîTÔáï�&�³+ 

 2. <ó�eTqT\T >·{ì¼�&�³+ 

 3. <ó�eTqT\T kÍ>·³+ 

 4. <ó�eTqT\T eTT&�T#áT¿Ãe³+ 

 

26. ‘Disgraphia’ is an inability in 

 1. Reading 

 2. Drawing 

 3. Writing 

 4. Speaking 

 &�dtç>±|�¾jáÖ B�¿ì d�+�+~ó+ºq nXø¿£ïÔá 

 1. |�sÄÁq+ 

 2. |�{²\T ^jáT³+ 

 3. ýñKq+ 

 4. eÖ{²¢&�³+ 

  

win
Oval

win
Oval

win
Oval

win
Oval



27. Success Schools were started in this year with a view to impart free 
School Education in English Medium in Andhra Pradesh  

 �+ç<ó�ç|�<ûXÙýË �+>·¢ eÖ<ó�«eT+ýË �ºÔá bÍsÄÁXæ\ $<�«qT n+~+#�\Hû  

<óû«jáT+ÔÃ d�Â¿àdt bÍsÄÁXæ\\qT � d�+eÔáàsÁ+ýË çbÍsÁ+_ó+#�sÁT 

 1. 2008 

 2. 2006 

 3. 2009 

 4. 2007 

 

28. The officer responsible to monitor the NPEGEL programme at 
district level is  

 �ý²¢ kÍ�sTTýË NPEGEL ¿±sÁ«ç¿£eÖ�� |�sÁ«yû¿ì�+#áT n~ó¿±] 

 1. DEO 

 2. GCDO 

 3. PO - SSA 

 4. AMO - SSA 

 

29. One of the objectives of RMSA is achievement of 100 percent 
retention by this year 

 � d�+eÔáàsÁ+ H�{ì¿ì qÖsÁT XæÔá+ �\T|�Ú<�\ kÍ~ó+#á³+ �sY.jáT+.bdt.m. 

\¿£�«+>± �+~. 

 1. 2021 

 2. 2020 

 3. 2019 

 4. 2022 

win
Oval

win
Oval

win
Oval



30. One of the following is the first Indian University established on the 
lines of Western System of Education 

 1. Osmania University 

 2. Madras University 

 3. Banaras Hindu University 

 4. University of Delhi 

 ¿ì+~ y��ýË ÿ¿£{ì bÍXæÌÔá« $<�« $<ó�q+ýË Hî\¿=\Î�&�q Ô=* 

$XøÇ$<�«\jáT+ 

 1. �kÍ��jáÖ $XøÇ$<�«\jáTeTT 

 2. eTç<�d�T $XøÇ$<�«\jáTeTT 

 3. �H�sÁdt V¾²+<�Ö $XøÇ$<�«\jáTeTT 

 4. &ó�©¢ $XøÇ$<�«\jáTeTT 

 
31. Introverts and sensitive minded people belong to this type of  

personality  

1. Endomorphy 

2. Ectomorphy 

3. Sanguine 

4. Choleric 

 � eTÖ]ïeTÔáÇ sÁ¿±�¿ì d�+�+~ó+ºq e«Å£�ï\T n+ÔásÁT�KT\T>±, 

d�T��Ôá d�Çuó²eÚ\T>± �+{²sÁT. 

 1. d�Ö�\¿±jáTÔá 

 2. \+�¿£�Xø¿±jáTÔá 

 3. WÔ�àV¾²Å£�&�T 

 4. �|ÕÔá«ç|�¿£�Ü 

 

 

 
 

win
Oval

win
Oval

win
Oval

win
Oval



32. Children of this age group participate in cooperative play 

1. 1 - 1½ years 

2. 2 - 2½ years 

3. 3 - 4 years 

4. 5 - 6 months 

 � ejáTd�T |¾\¢\T d�V�²¿±sÁ ç¿¡&�ýË bÍý¤Z+{²sÁT 

 1. 1 ` 1½ d�+eÔáàs�\T 

 2. 2 ` 2½ d�+eÔáàs�\T 

 3. 3 ` 4 d�+eÔáàs�\T 

 4. 5 ` 6 Hî\\T 

 

33. Love is a secondary emotion with a combination of 

1. Joy and acceptance 

2. Anticipation and joy 

3. Fear and acceptance 

4. Joy and fear 

 ç�|eT nqTq~ ç¿ì+~ �<ûÇ>±\ÔÃ Å£L&�q ~ÇrjáT �|�>·eTeTT 

 1. d�+ÔÃw�+ eT]jáTT n+^¿±sÁ+ 

 2. }V�² eT]jáTT d�+ÔÃw�+ 

 3. uó�jáT+ eT]jáTT n+^¿±sÁ+ 

 4. d�+ÔÃw�+ eT]jáTT uó�jáT+ 

  

win
Oval

win
Oval

win
Oval

win
Oval



34. Generally the development of language in the child takes place 
through imitation and conditioning in this stage 

1. Sound imitation stage  

2. Verbal comprehension stage 

3. Babbling stage 

4. Verbal fluency stage 

 kÍ<ó�sÁD+>± ¥Xø�eÚýË nqT¿£sÁD <�Çs�, ��+<ó�q <�Çs� uó²cÍ_óe�~Æ È]¹> 

<�Xø 

 1. XøuÝ²qT¿£sÁD <�Xø 

 2. Xø�Ýç>±V�²«¿£ <�Xø 

 3. eTT<�ÝT|�\T¿£T\ <�Xø 

 4. Xø�Ý<ó�s�Þø <�Xø 

 
 
35. According to Kohlberg, as moral reasoning advances,  

individuals become less 

1. emotional 

2. self centered 

3. ruled by instinct 

4. attached to their parents 

 ¿ÃýÙ�sYZ ç|�¿±sÁeTT HîÕÜ¿£ $yû#áqeTT �|]¹> ¿=BÝ e«Å£�ï\ýË  

� \¿£�D+ Ôá>·TZÔáT+~ 

 1. �<ûÇ>·Ôá 

 2. dÓÇjáT¹¿+çB¿£sÁD 

 3. d�V�²C²ÔáeTT\T �¹sÝ¥+ºq³T¢+&�T³ 

 4. Ôá*¢<�+ç&�T\ÔÃ nqT�+<ó�+ 

 
  

win
Oval

win
Oval

win
Oval

win
Oval



36. “An attitude is a readiness to respond in such a way that behavior is 
given a certain direction” – This definition is given by 

1. Sorenson 

2. Travers 

3. Whiltaker 

4. Thurstone 

 »»ç|�esÁïqÅ£� ÿ¿£ �]Ýw�¼ ~XøqT �#ûÌ+<�TÅ£� d�Î+~+#á&��¿ì d�+d¾<�Ý+>± �q� 

d¾�ÜjûT yîÕK]µµ � �sÁÇ#áH��� �ºÌq y�sÁT 

 1. kþÂsH�d�H� 

 2. ç{²esYà 

 3. $ýñ¼¿£sY 

 4. <�̧sYd�¼H� 

 
 

37. Which of the following stage fall under conventional level of moral 
reasoning of Kohlberg? 

1. good boy/good girl 

2. punishment-avoidance and obedience 

3. exchange of favours 

4. social contract 

 ¿ÃýÙ�sYZ jîTT¿£Ø d�+ç|�<�jáTHîÕÜ¿£ $yû#áq <�Xø .... 

 1. eT+º u²\T&�T / eT+º u²*¿£ 

 2. $<óûjáTÔá, ¥¿£�  

 3. �V�QeTÔáT\T �ºÌ|�Ú#áTÌ¿Ãe&�+ 

 4. kÍ+|�¾T¿£ ÿ|�Î+<�eTT 

 
  

win
Oval

win
Oval

win
Oval

win
Oval



38. A degree of mental retardation defined in terms of an IQ range 
between 35 -55 is labeled as 

1. Moderate retardation 

2. Educable mental retardation 

3. Severe retardation 

4. Profound retardation 

 ç¿ì+~ kÍ�sTT �T~ÝeÖ+<�T«\Å£� ç|�C²ã\_Ý 35 ` 55 eT<ó�« �+³T+~. 

 1. $TÔá �T~ÆeÖ+<�T«\T 

 2. $<�« HûsÁÇ>·\ eÖqd¾¿£ $¿£ý²+>·T\T 

 3. rçe �T~ÆeÖ+<�T«\T 

 4. d�+|�PsÁ� �T~ÆeÖ+<�T«\T 

 
 

39. Which of the following most sharply characterizes the current debate 
about intelligence? 

1. Divergence vs convergence 

2. Single vs multiple 

3. Practical vs logical 

4. Cognitive vs behavioural 

 ç¿ì+~ y��ýË ç|�ÈãÅ£� d�+�+~ó+º ÈsÁT>·TÔáTq� #ásÁÌ\qT Ôî*�| d�Td�Îw�¼yîT®q 

\¿£�DyûT~? 

 1. $uóñ~+#û~ vs @¿¡uó�$+#û~ 

 2. @¿£ vs nHû¿£ 

 3. �#ásÁD²Ôá�¿£ vs Ô�]Ø¿£ 

 4. C²ãH�Ôá�¿£ vs ç|�esÁïH�Ôá�¿£ 

  

win
Oval

win
Oval

win
Oval

win
Oval



40. ‘Book smart’ people will have this type of intelligence 

1. Naturalistic Intelligence 

2. Visual spatial intelligence  

3. Verbal language intelligence  

4. Mathematical logical intelligence  

 »»|�Úd�ï¿£ HûsÁÎsÁT\Å£� �+&û ç|�Èã 

 1. ç|�¿£�Ü d�+�+~óÔá ç|�Èã 

 2. <��Xø« çbÍ<û¥¿£ ç|�Èã 

 3. Xæ_Ý¿£ uó²cÍ d�+�+<ó� ç|�Èã 

 4. >·DìÔá Ô�]Ø¿£ ç|�Èã 

 
 
41. Who objected most strenuously to psychology being the science of 

consciousness? 

1. Cognitive psychologists 

2. Behaviorists 

3. Psychoanalysts 

4. Neurologists 

 eTHÃ$C²ãqXæçd�ï+ »#ûÔáqÔáÇXæçd�ïeTTµ nq� d�+ç|�<�jáÖ�� rçe+>± 

$uóñ~+ºq y�sÁT 

 1. d�+C²ãH�Ôá�¿£ eTHÃ$C²ãq Xæçd�ïyûÔáï\T 

 2. ç|�esÁïH�y�<�T\T 

 3. eTHÃ$Xâ¢w�Dy�<�T\T 

 4. H�&�e«ed�� �|�ÚDT\T 

  

win
Oval

win
Oval

win
Oval

win
Oval



42. This defense mechanism is apt to make you speak sharply to a friend 
when you are angry at your supervisor 

1. repression 

2. reaction formation 

3. displacement 

4. regression 

 MT d�Ö|�sYyîÕÈsY MT<� �q� ¿Ã|�+ÔÃ ú �d�V¾²ÔáT�ÔÃ |�<�TqT>± eÖ{²¢&�q, 

n~ � sÁ¿£�¿£Ôá+çÔáeTT 

 1. <�eTq+ 

 2. #ásÁ« @sÁÎ&�³+ 

 3. $kÍ�|�q+ 

 4. ç|�Ü>·eTq+ 

 
 

43. The kind of forgetting involved when the sociology lesson I studied 
yesterday makes it more difficult to learn and remember the 
psychology I am studying today is 

1. decay 

2. retrieval failure 

3. proactive interference 

4. retroactive interference 

 �q� HûqT #á~$q kÍeÖ�¿£Xæçd�ï bÍsÄÁeTT e\q � sÃE HûqT #á<�TeÚÔáTq� 

eTHÃ$C²ãq XæçkÍï�� #á<�TeÚ³ eT]jáTT >·TsÁTï+#áT¿=qT³ #�ý² ¿£w�¼yîT®+~. 

B�ýË �$T&� �q� $d�� �Ü 

 1. ¿£�jáT+ 

 2. C²ã|�¿£+#ûd�T¿=qT³ýË yîÕ|��\«+ 

 3. |�ÚsÃ>·eTq CË¿£«+ 

 4. ÜsÃ>·eTq CË¿£«+ 

 

win
Oval

win
Oval

win
Oval

win
Oval



44. The following is not a biological factor 

1. Hunger 

2. Thirst 

3. Sleep 

4. Culture 

 Je d�+�+<ó� ¿±sÁ¿£+ ¿±�~ 

 1. �¿£* 

 2. <�|¾Î¿£ 

 3. �ç<� 

 4. d�+d�Ø �Ü 

 
 
45. “Oral language disabilities”, “Reading disabilities” and “writing 

disabilities” - These deficiencies are respectively called as   

1. Disphasia, Dyslexia, Dysgraphia 

2. Dysgraphia, Disphasia, Dyslexia 

3. Dysgraphia, Dyslexia, Disphasia 

4. Disphasia, Dysgraphia, Dyslexia 

 »»uó²w�D ` uó²cÍd�+�+<ó�µµ, »»|�sÄÁq d�+�+<ó�, s�Ôá d�+�+<ó� yîÕ¿£ý²«\Tµµ 

esÁTd�>± �ý² |¾\e�&�Ô�sTT. 

 1. &�dt�|�d¾jáÖ, &�dtýÉ¿ìàjáÖ, &�dtç>±|�¾jáÖ 

 2. &�dtç>±|�¾jáÖ, &�dt�|�d¾jáÖ, &�dtýÉ¿ìàjáÖ 

 3. &�dtç>±|�¾jáÖ, &�dtýÉ¿ìàjáÖ, &�dt�|�d¾jáÖ  

 4. &�dt�|�d¾jáÖ, &�dtç>±|�¾jáÖ, &�dtýÉ¿ìàjáÖ 

 
  

win
Oval

win
Oval

win
Oval

win
Oval



46. A child who is frightened by the first day at school may indulge in 
infantile behavior such as weeping, sucking the thumb etc. This is 

1. Regression 

2. Projection 

3. Action 

4. Rationalization 

 bÍsÄÁXæ\ýË yîTT<�{ì sÃEq uó�jáT|�&�q |¾\¢y�&�T, @&�Ç³+, u¤³qçyû\T  

NÅ£³+ yîTT<�\>·T XèÕXøe ç|�esÁïq\T #áÖ|�ÚÔ�&�T. �~ 

 1. ç|�Ü>·eTqeTT 

 2. ç|�¹¿�|�D+ 

 3. #ásÁ« 

 4. �V²ÔáTy�<� $ÔásÁD 

 
 
47. This stage is also called as stage of ‘Producing ideas’ 

1. Insight 

2. Incubation stage 

3. Verification stage 

4. Preparation stage 

 � <�XøqT »uó²eHÃÔáÎÜï <�Xøµ n� Å£L&� n+{²sÁT. 

 1. n+ÔásY<��w¾¼ 

 2. >·T|�ï d¾�Ü 

 3. �sÁÖ|�D <�Xø 

 4. d�H��V�² <�Xø 

  

win
Oval

win
Oval

win
Oval

win
Oval



48. Personality is a dynamic organization with in the individual of those 
Psycho-Physical system that determines adjustment to his 
reinforcement.  – This is according to  

1. Allport 

2. J. B. Watson 

3. Morton Prince 

4. J. P. Brown 

 @ eTHÃ Xæ¯sÁ¿£ $<ó�H�\T nsTTÔû ÿ¿£ $¥w�¼yîT®q |�<�ÆÜýË e«¿ìï� Ôáq  

|�]d�s�\Å£� d�sÁTÝu²³T #ûd�T¿=Hû³³T¢ #ûkÍïjîÖ, � XøÅ£�ï\ >·Üo\¿£  

(#îÕÔáq«|�P]Ôá) �sÁÇV�²DHû � e«¿ìï eTÖ]ïeTÔáÇ+ n+{²sÁT n�  

�sÁÇº+ºqy�sÁT 

 1. �ýÙbþsY¼ 

 2. CÉ._. y�³àH� 

 3. yîÖs�¼H� ç|¾H�à 

 4. CÉ.|¾. çu�H� 

 
 

49. The psychologist known for his experiment using the Bobo doll is 

1. Travers 

2. B.F. Skinner 

3. Abraham Maslow 

4. Albert Bandura 

 uËuË &�ýÙqT �|�jîÖÐ+º |�]XË<ó�q\T #ûd¾q eTHÃ$C²ãq Xæçd�ïyûÔáï 

 1. ç{²esYà 

 2. _.m|�t. d¾Øq�sY 

 3. nç�V�äy�T eÖkþ¢ 

 4. �\ÒsY¼ �+&�ÖsÁ 

 
 

win
Oval

win
Oval

win
Oval

win
Oval



50. Research suggests that a high level of arousal may be most optimal 
for the performance of a task when, 

1. The task is complex 

2. The task is simple 

3. The rewards are high 

4. An audience is present 

 � |�� �sÁÇV�²DýË ç�|sÁD <�Çs� |��*Ôá+ >·]w�÷+>± �+³T+<�� |�]XË<ó�q\ 

 <�Çs� Ôî\Td�Tï+~. 

 1. |�� d�+¿ì¢w�¼eTT>± �q�|�ð&�T 

 2. |�� Ôû*¿£>± �q�|�ð&�T 

 3. �V�QeTÔáT\T �q�ÔáyîT®q|�ð&�T 

 4. ç�|¿£�Å£�\Tq�|�ð&�T 

 

51. »»nuó²«kÍ\ýË �ºÌq |�<�\qT|�jîÖÐ+º kõ+Ôá y�¿£« ç|�jîÖ>·+ #ûjáT&�+µµ  

nHû~ � uó²cÍ kÍeTs��«�¿ì #î+~q~. 

 1. uó²w�qT >·T]+º Ôî\Td�TÅ£�+<�+ 

 2. |�<�C²ý²_óe�~Æ 

 3. #á<�e&�+ ` s�jáT&�+ 

 4. dÓÇjáTsÁ#áq 

52. Ôû, �Ôû, ×Ôû ç|�Ôá«jáÖ\T M{ì� Ôî\T|�ÚÔ�sTT 

 1. @¿£¿±\+ýË È]¹> y�«bÍs��� 

 2. nq�+Ôá ç¿ìjáTÅ£� nqT�+<ó��� 

 3. ¿±sÁ«¿±sÁD d�+�+<ó��� 

 4. uó�ÖÔá¿±ý²sÁ�¿£ *+>±�� 

win
Oval

win
Oval

win
Oval

win
Oval



53. »eT�<�é³eTTµ � |�<�+ýË� d�+~ó�|sÁT 

 1. ÈXøïÇd�+~ó 

 2. Xø�ÌÔáÇd�+~ó 

 3. w�§¼ÔáÇd�+~ó 

 4. nqTH�d¾¿£d�+~ó 

54. »Ð] ¿±sÁT�¿£eTTµ ` � |�<�+ýË� d�eÖd�+ 

 1. ne«sTÖuó²e d�eÖd�+ 

 2. �V�QçMV¾² d�eÖd�+ 

 3. @¿£<ûo d�eÖd�+ 

 4. sÁÖ|�¿£ d�eÖd�+ 

55. »»ºsÁy�+#ó�, BsÁé çXøeÖ �ý² e«sÁ�+ nsTTbþÔáTq�+<�TÅ£� #�ý² #�ý² 

Å£�$T*bþÔáTH��&�ÔáqTµµ. � y�¿±«\T>·\ bÍsÄÁ+ 

 1. eT<ó�T|�s�Ø\T 

 2. >·Tý²; nÔáïsÁT 

 3. d�ÖÎÛ]ï ç|�<�Ôá\T 

 4. eTq eTV�²újáTT\T 

56. »WqT, H� yîTTV�ä�� MTsÁT d�Îw�¼+>± #áÖ&�\+fñ nsÁÆs�çÜ <�¿± �>±*µµ 

� eÖ³\T nq�~ 

 1. $<�T«ÔáTï d�ï+uó�+ 

 2. �¿±Xø+ 

 3. sÃ&�T¦ 

 4. |¾#áTÌ¿£ 

win
Oval

win
Oval

win
Oval

win
Oval



57. ¿£Hî�>·+{ì V�²qTeT+ÔáT d�Çç>±eT+ 

 1. eT³¼|�*¢ 

 2. $T+#�\bÍ&�T 

 3. ¿±sÁ«eT|�P&� 

 4. Âs+³º+Ôá\ 

58. uó�Ö|� d�uó� ` nsÁ�+ 

 1. |�+&�Ôád�uó� 

 2. �dÕ�¿£d�uó� 

 3. esÁï¿£d�uó� 

 4. s�Èd�uó� 

59. jáTT¿ìï ` H�H�s��\T 

 1. �bÍjáT+, HûsÁTÎ 

 2. ¿±sÁDeTT, �V²ÔáTeÚ 

 3. $<ó�eTT, XèÕ* 

 4. Å£L&�¿£, ¿£\sTT¿£ 

  

win
Oval

win
Oval

win
Oval



60. ¿ì+~ bÍçÔá\qT d�+�+<ó�eTTq� bÍsÄÁ«uó²>·+ÔÃ ÈÔá|�sÁÌ+&�. 

    yîTT<�{ìesÁTd�   Âs+&ÃesÁTd� 

 (n)  Xø�<ÃÆ<�qT&�T   (jáT)  $+ÔáýË¿£+   

(�)  ;sÁÒýÙ   (sÁ) �+>±sÁT bÍ|� 

(�)  ¿±+ÔáeT�  (\) <�jáT 

(�) ç|�Èã   (e)  ¿±Å£�\ýÉ¿£Ø 

 

 1. n ` \, � ` jáT, � ` sÁ � ` e 

 2. n ` \, � ` e, � ` jáT   � ` sÁ 

 3. n ` e,     � ` \,      � ` sÁ    � ` jáT 

 4. n ` jáT,    � ` sÁ£ ,     � ` \ � ` e 

61. »sÁeeTTµ ` |�s�«jáT|�<�\T 

 1. ¿¡]ï, jáTXø+ 

 2. nsÁT|�Ú, eÖ³ 

 3. <ó�Ç�, Xø�Ý+ 

 4. eÖ³, y�Å£�Ø 

62. »»n�TÒsÁeT>·T Xæ+Ü #á+ç~¿£\ uó�Ö$T ç|�|�+#á #á]çÔáýËq �+<ó�TsÁµµ 

� y�¿£«+ýË� n\+¿±sÁ+ 

 1. ns��+ÔásÁH�«d� 

 2. �çÔûÎ¿£� 

 3. �|�eÖ 

 4. sÁÖ|�¿£ 

 

win
Oval

win
Oval

win
Oval



63. ¿ì+~ |�<�« bÍ<�\qT d�ÂsÕq ç¿£eT+ýË neTsÁÌ+&�. 

 (n) <�qT�#áT ç>·T<�TÝ#áTH� q>·T#áT <�<�ÝjáTTuÉÕ|�&� Å£L&�jáÖ&�T#áTH� 

(�) eTq�q�djáTT |�\¢e Å£�eÖsÁT\ uó²>·«eTT *+Ôá jîTT|�ÚÎHû 

(�) mq�&�THîÕq jîÖÐ $uó�TýÉeÇ� bÍ<�|�s�>· $T+ÔájáTT+ 

(�) >·qT�\ >±qsÁ{ì¼ V�²] >�Ð³ CñsÁTÌ#áT CÉ³¼ �³T¼ #áT+ 
 

 1. �, �, n, �  

 2. �, n, �, � 

 3. n, �, �, � 

 4. �, �, �, n 

64. >·ÖjáTT#áT Hû\ <�ÖÅ£�#áTqT, >·T+|�Ú\T >·Ö&� ¿£|Ó+ç<�T ýÉ+ÔájáTTH�  

� |�<�«bÍ<�+ 

 1. �ÔáÎ\eÖ\ 

 2. #á+|�¿£eÖ\ 

 3. XæsÁÖÝ\+ 

 4. eTÔûïuó�+ 

65. Ð&�T>·T s�CñXøÇsÁs�eÚ >±] sÁ#áq 

 1. m\T¿£$+<�T 

 2. @eTeÚÔáT+<Ã 

 3. º\T¿£ d�+<ûXø+ 

 4. eÖ ÔÃ³ 

  

win
Oval

win
Oval

win
Oval



66. »sÁ¿£�DÅ£� |�PqT¿=qTµ nqT nsÁ�+ýË �|�jîÖÐ+#áT C²rjáT+ 

 1. ¿=q\T kÍ>·T³ 

 2. ¿=eTT�>±jáTT 

 3. ¿ìeT�H��d¾ï 

 4. ÿ¿£Ø Ô�{ìMT<� q&�T#áT 

67. »»yîsTT« sÁÖbÍjáT*kÍïy�? � #î³T¼ ú&� ú<îÕbþÔáT+~µµ n� »ú&� K¯<�Tµ 

¿£<�̧ýË MsÁT M]ÔÃ nH��sÁT 

 1. bÍ|�jáT« ¥ejáT«ÔÃ 

 2. ¥ejáT« bÍ|�jáT«ÔÃ 

 3. esÁV�ä\jáT« s�eTjáT«ÔÃ 

 4. ¥ejáT« esÁV�ä\jáT«ÔÃ 

68. ¿ì+~ y�{ìýË d�Ô�«\qT >·T]ï+#á+&�. 

 (n) »»>Ã{ìµµ |�<�+ýË �|�$uó�¿ìï »»�µµ 

 (�) »»>Ã{ìµµ |�<�+ýË �|�$uó�¿ìï »»{ìµµ 

 (�) Å£L]Ì, >·T]+º nHû$ d�|�ïMT $uó�¿ìï ç|�Ôá«jáÖ\T 

 (�) »»|�{ì¼µµ nHû~ |�+#áMT $uó�¿ìï ç|�Ôá«jáT+ 
 

 1. �, n  

 2. �, � 

 3. n, � 

 4. �, � 

  



69. »»¿�±�µµ nqT |�<�eTTqÅ£� eÚ«ÔáÎÜï 

 1. ¿£�$T+#î&� >·TDeTT ¿£\~ 

 2. çbÍDT\Å£� JeH�<ó�sÁeTT\qT n+~+#áTq~ 

 3. uó²sÁ+ eV¾²+#á&�+ýË zsÁTÎ>·\~ 

 4. uó�Ö$T� <ó�]+#áTq~ 

70. (n) \*Ôá bÍ³qT bÍ&�+~  

(�) \*Ôá bÍ³ bÍ&�+~   ` � y�¿±«\ýË 

 1. »nµ eÖçÔáyûT d�Ôá«+ 

 2. »�µ eÖçÔáyûT d�Ôá«+ 

 3. n, � \T Âs+&�Ö d�Ô�«\T 

 4. n, �\T Âs+&�Ö nd�Ô�«\T 

71. $<�«]� kÍV¾²Ôá« sÁ#áq\ýË $eTsÁôH� <��¿£Î<�̧+ ¿£*Ð �+{²&�T. 

� d�ÎwÓ¼¿£sÁD \¿£�«+ 

 1. d�eTTºÔá eTHÃyîÕKsÁT\T 

 2. d��ÈH�Ôá�¿£Xø¿ìï 

 3. *ÏÔásÁÖ|� e«¿¡ï¿£sÁD 

 4. uó²cÍ_óe�~Æ 

 

72. y�«kÍ�� »»@<ûú ÿ¿£ #á]çÔ�+Xø+µµ n� �sÁÇº+º+~. 

 1. Xøu²ÝsÁ�#á+ç~¿£ 

 2. �+ç<ó�y�#ád�ÎÔá«+ 

 3. uó²cÍ d�$TÜ $C²ãq d�sÁÇd�Ç+ 

 4. uó²cÍ#á]çÔá (º\TÅ£L] H�s�jáTDs�eÚ) 



73. »eTTw¾¼µ ` � |�<��¿ì HîÕ|��T+{ì¿±sÁ�+ »|¾&�¿ì*µ �|�ÚÎ&�T »_ó¿£�eTTµ nHû nsÁ�+ýË 

d¾�sÁ|�&�+~. � nsÁ� $|�]D²eT+ 

 1. ýË¿£�sÁT¿ìï 

 2. nsÁ�d�+¿Ã#á+ 

 3. \¿�±«sÁ�d¾~Æ 

 4. d�uóË«¿ìï 

74. uó²w�q� |¾\¢\T n~ó¿£+>± HûsÁTÌÅ£�Hû~ 

 1. Ôá*¢<�+ç&�T\<�Çs� 

 2. $TçÔáT\<�Çs� 

 3. d�+<�s�ÒÛ\ d��w¾¼<�Çs� 

 4. bÍsÄÁXæ\Å£� yîÞøß&�+<�Çs� 

75. »MT ÔásÁ>·ÜýË bÍ³\TbÍ&û |¾\¢y�&� HîÕ|�ÚD²«�� >·Ö]Ì ÿ¿£ �|s� s�jáT+&�.µ 

` � ç|�Xø� |�̄ ¿ì�+#û HîÕ|�ÚD«+ 

 1. d��ÈH�Ôá�¿£Ôá 

 2. ç|�Xø+d� 

 3. dÓÇjáTsÁ#áq 

 4. ne>±V�²qÔÃ s�jáT&�+ 

76. |�sÁd�ÎsÁ #ásÁ«<�Çs� nuó�«d�H��¿ì �|�jîÖ>·|�&û �|�¿£sÁD+ 

 1. fñ|t ]¿±sÁ¦sÁT 

 2. �d¢í&� çbõCÉ¿£¼sÁT 

 3. {ì.$. 

 4. ¿£+|�P«³sÁT 



77. ~ÇrjáT uó²w�>± Ôî\T>·T uË~ó+#û³|�ÚÎ&�T kÍ~ó+#áe\d¾q $\Te\ýË 

�<=¿£{ì 

 1. W|�#�]¿±\T 

 2. �<ó�T�¿±\T 

 3. n\+¿±sÁçbÍjáÖ\T 

 4. kÍeÖ�¿±\T 

78. �+ç<ó�ç|�<ûXÙýË� ÔÃ\Tu¤eT�ý²³Å£� ÿ]kÍàýË �|sÁT 

 1. ¿£+<�sTT 

 2. u²V�Q\« 

 3. |�ÚÔáTýÙH�uÙ 

 4. bÍ|�¿=ÔáTï 

79. »eÖ>·~óµ B�¿ì #î+~q uó²w� 

 1. d�+d�Ø �ÔáeTT 

 2. çbÍ¿£�ÔáeTT 

 3. ç<�$&�eTT 

 4. bÍsÁo¿£eTT 

80. d�sÁÇ ¥¿�± n_ójáÖH� \¿�±«\ýË eTTK«yîT®q~ 

 1. bÍsÄÁXæ\Å£� uó�Ü¿£ eqsÁT\qT d�eTÅ£LsÁÌ&�+ 

 2. �bÍ<ó�«jáTT\Å£� bÍsÄÁ«ç|�D²[¿£\qT ÔájáÖsÁT#ûd¾ �eÇ&�+ 

 3. bÍsÄÁXæ\\qT d�eTqÇjáT|�sÁ#á&�+ 

 4. H�D«yîT®q $<�«q+~+#á&�+ 



81. Choose the novel written by Daniel Defoe. 

 1. Tom Jones 

 2. Robinson Crusoe 

 3. Clarissa  

 4. The Pilgrim’s Progress 

 

82. The play ‘Rehearsal’ was written by: 

 1. M.A. Comley 

 2. Mel Sherratt 

 3. George Villiers  

 4. Faith Martin 

 

83. Choose the ode written by Pablo Neruda.  

 1. Ode on Indolence 

 2. Oxford Cheese Ode 

 3. Ode to a Loved One 

 4. Ode to Salt 

 

84. The essay ‘Reflections on Gandhi’ was written by: 

 1. George Orwell  

 2. Susan B. Anthony 

 3. R.W. Emerson 

 4. Rabindranath Tagore 

 

 



85. In a story, if the narrator uses ‘he’ or ‘she’ and he is an outside 
observer, the story is: 

 1. a direct narrative 

 2. a straight narrative 

 3. a third person narrative 

 4. a first person narrative 
 

86. In a personal letter, the language used should be: 

 1. simple and direct 

 2. complex and strange 

 3. strange and hard  

 4. hard and complex 
 

87. Choose the correct article that fits the blank. 

 I sometimes go to ……………. school of my son to review his 
progress. 

 1. a 

 2. an 

 3. the 

 4. No article is needed. 

 

88. I was ……… eye witness to ………. accident on …….. main road. 

 Choose the correct list of articles that fits the three blanks 
respectively. 

 1. a, the, the 

 2. a, an, the 

 3. the, a, the  

 4. an, the, the 



89. Roja has made no progress ……… her studies. 
 Choose the correct preposition that fits the blank. 
  

 1. of 

 2. for 

 3. by  

 4. in 

 

90. Choose the correct sentence regarding the use of prepositions. 

 1. He was vexed from his failure. 

 2. He was vexed by his failure. 

 3. He was vexed with his failure  

 4. He was vexed at his failure 
 

91. None but the brave deserves this reward.  

 Choose the part of speech of the word, ‘but’. 

 1. a conjunction 

 2. an adverb 

 3. a pronoun  

 4. a prepostion 

 

92. Choose the list of words with all nouns. 

 1. director, approach, permission, place 

 2. busy, room, lock, coffee 

 3. exhibition, happy, respect, dear 

 4. chamber, request, permission, happily 

 



93. He confessed his crime.  

 Choose the correct complex sentence of the above sentence. 

 1. He is a criminal is confessed by her. 

 2. He admitted to be a criminal. 

 3. He confessed that he had committed the crime.  

 4. He did not accept the crime. 

 

94. Choose the imperative sentence among the following. 

 1. Do you like coffee? 

 2. Do what I have said. 

 3. I know what is your name.  

 4. Singing songs is my hobby. 

 

95. They are going to Kashmir next summer. 

 This sentence expresses: 

 1. an action which is in progress 

 2. an action that will happen tomorrow. 

 3. an action that will never happen. 

 4. an action that will happen in the future. 

 

96. I ………….. (leave) Bihar before the earthquake ……….. (occur). 

 Choose the correct forms of verbs that fit the blanks respectively.  

 1. will have left; occurred 

 2. had left; occurred 

 3. would leave; will occur 

 4. was leaving; occurred 



97. He ………. a horse before. 

 Choose the correct tense form that fits the blank. 

 1. had never ride 

 2. has never ridden 

 3. will have never ridden 

 4. was never riding. 

 

98. Choose the word with ‘stress’ on the second syllable. 

 1. faith 

 2. affordable 

 3. human 

 4. school 

 

99. Choose the word that has the sound /ɪ/. 

 1. hire 

 2. hen 

 3. heal  

 4. him 

 

100. Choose the word in which the letter ‘c’ is silent 

 1. became. 

 2. acquire. 

 3. peace  

 4. difficult. 

 
  



101. In language learning, ‘11 to 18 months’ age is recognized as  

 1. Babbling stage 

 2. Single word stage 

 3. Gurgling stage 

 4. Lisping stage 

 

102. Identify the false statement. 

 1. Understanding the learning and growing child is the least 
priority of any teacher education programme. 

 2. Teachers should undertake field based projects to understand 
the problems of children in teaching-learning situations. 

 3. Teachers should listen to children with attention and empathy. 

 4. Learning happens only when children are actively engaged in 
doing something. 

 

103. The number of syllables in the word ‘comfortable’ is 

 1. five 

 2. four 

 3. six 

 4. three 

 

104. One of the following is not a two-way listening process. Find it out. 

 1. Taking part in conversations. 

 2. Taking part in debates. 

 3. Speaking on the telephone. 

 4. Listening to plays on the radio. 

 



105. According to Canale and Swain, Socio-linguistic competence refers 
to 

 1. the interpretation of the individual message and text. 

 2. the coping strategies that participants use to maintain 
communication. 

 3. the understanding of the social context in which 
communication takes place. 

 4. the grammatical competence. 

 

106. Identify the example for content words. 

 1. to 

 2. was 

 3. and 

 4. listening 

 

107. The full form of APeKX is 

 1. Andhra Pradesh e-Knowledge Exercise 

 2. Andhra Pradesh e-Knowledge Experience 

 3. Andhra Pradesh e-Knowledge Exchange 

 4. Andhra Pradesh e-Knowledge Experts 

 

108. Identify the false statement. 

 1. Planning helps divide the syllabus into workable chunks. 

 2. Planning ensures that we pay attention to all the language 
skills. 

 3. Planning leads to confusion among teachers and students. 

 4. Planning helps the teacher to design the activities in advance. 



109. ‘The pedagogy of comprehensible input’ is a concept of language 
acquisition suggested by 

 1. Bentinck 

 2. Gattengo 

 3. Piaget 

 4. Krashen 

 

110. A detailed plan that provides the basis for developing an entire test is 
called. 

 1. blue print 

 2. blue frame 

 3. blue plan 

 4. blue sketch 

 

111. If  a : b = 3 : 4 then the value of  3a + 2b : 2a + 5b  is  

a : b = 3 : 4  nsTTq 3a + 2b : 2a + 5b  $\Te 

 1. 18 : 15 

 2. 17 : 26 

 3. 17 : 13 

 4. 7 : 10 

  



112. The compound interest on  ` 15625 for 1 1
2

 years at 8% per annum 

when compounded half yearly is  

` 15625 kõeTT��|Õ 6 Hî\\¿=¿£kÍ] e&�¦ ýÉ¿ìØ+#û |�<�ÆÜq 8% e&�¦¹s³Tq  

1 1
2

 d�+öö njûT« #áç¿£e&�¦ 

 1. ` 2029 

 2. ` 1951 

 3. ` 1905 

 4. ` 1875 

 

113. A fruit vendor bought 20 oranges for  ` 125 and sold them ` 90 per 
dozen then the gain or loss percentage is   

 1. 10% gain 

 2. 10% loss 

 3. 20% gain 

 4. 20% loss 

|�+&�¢ y�«bÍ] 20 H�]+È|�+&�¢qT ` 125 \Å£� ¿=� &�ÈqT ` 90 #=|�ðq 

n$T�q nÔá�¿ì ý²uó�eÖ? qw�¼eÖ? (XæÔá+ýË) 

1. 10% ý²uó�+ 

2. 10% qw�¼+ 

3. 20% ý²uó�+ 

4. 20% qw�¼+ 

  



114. The price of petrol was ` 85 and increased by 4% and then reduced 
by 5% then the price of petrol now is  

�|ç{ËýÙ <ó�sÁ ` 85 qT eTT+<�T 4% �|+º Ôás�ÇÔá 5% ÔáÐZ+ºq ç|�d�TïÔá 

�|ç{ËýÙ <ó�sÁ 

 1. ` 89.42 

 2. ` 88.40 

 3. ` 83.98 

 4. ` 80.58 

 

115. The number to be added to 7
8
-  to get 4

9
 is  

7
8
-  nHû~ 

4
9
 n>·T³Å£� ¿£\T|�e\d¾q d�+K« 

 1. 4
72
-  

 2. 4
72

 

 3. 72
95

 

 4. 95
72

 

 

  



116. The value of  3 3
512 64

729 343
-

+  is 

3 3
512 64

729 343
-

+  $\Te 

 1. 20
63
-  

 2. 105
63

 

 3. 13
63
-  

 4. 13
63

 

 

117. In a 3 digit number the hundred’s digit is twice the tens digit while 
the units digit is thrice the tens digit and the sum of digits is 18 then 
the number is 

ÿ¿£ eTÖ&�+Â¿\ d�+K«ýË e+<�\ kÍ�q+ýË� n+Â¿ |�<�T\ kÍ�q+ýË� n+Â¿Å£� 

Âs+&�TÂs³T¢, ÿ¿£³¢ kÍ�q+ýË� n+Â¿ |�<�T\ kÍ�q+ýË� n+Â¿Å£� eTÖ&�TÂs³T¢  

eT]jáTT d�+K«ýË n+Â¿\ yîTTÔáï+ 18 nsTTq � d�+K« 

 1. 369 

 2. 639 

 3. 693 

 4. 936 

  



118. The least natural number which when divided by 18, 24 and 30 
leaves the remainders 14, 20 and 26 respectively is  

18, 24 eT]jáTT 30 \#û uó²Ð+ºq|�Ú&�T XâcÍ\T esÁTd�>± 14, 20 eT]jáTT 

26 \T e#ûÌ ¿£�w�÷ d�V�²È d�+K« 

 1. 364 

 2. 356 

 3. 1820 

 4. 1824 

 

119. If 35% of the students coming to school by bicycle then the central 
angle of the sector when represented in a pie chart is  

ÿ¿£ bÍsÄÁXæ\ýË 35% eT+~ $<�«sÁT�\T bÍsÄÁXæ\Å£� �dÕ¿ìÞø¢�|Õ eºÌq <���  

e�Ôáï¹sU² ºçÔá+ýË #áÖ�| �d¿£¼sÁT ¹¿+ç<�+ e<�Ý #û�d ¿ÃD+ 

 1. 108o 

 2. 115o 

 3. 126o 

 4. 135o 

 

 120.  

 
 

 The arithmetic mean of the above data is   

�|Õ <�Ô�ï+Xø+ jîTT¿£Ø n+¿£eT<ó�«eT+ 

 1. 8 

 2. 7.15 

 3. 3 

 4. 1.75 

x 5 6 7 8 9 
f 3 5 4 2 6 



121. The area of a square is 49 sq. cms and a rectangle has the same 
perimeter as the square.  If the length of the rectangle is 9.3 cm then 
its breadth is (in cm) 

ÿ¿£ #áÔáTsÁçd�eTT jîTT¿£Ø yîÕXæ\«eTT 49 #á.�d+.MT B� #áT³T¼¿=\ÔáÔÃ  

d�eÖqyîT®q #áT³T¼¿=\Ôá >·\ BsÁé#áÔáTsÁçd�+ jîTT¿£Ø bõ&�eÚ 9.3 �d+.MT  

nsTTq � BsÁé#áÔáTsÁçd�eTT jîTT¿£Ø yî&�\TÎ (�d+.MT.\ýË) 

 1. 4.7 

 2. 9.3 

 3. 9.7 

 4. 10.2 
 
 

122. A = 3x2 – 2xy + y2  and  B = 5x2 – 3xy – 2y2  then  5A – B  is equal to  

A = 3x2 – 2xy + y2  eT]jáTT B = 5x2 – 3xy – 2y2 nsTTq 5A – B ¿ì  

d�eÖqyîT®q~ 

 1. 10x2 + 9xy – 7y2 

 2. 5x2 + 14xy + 7y2 

 3. 10x2 – 7xy + 7y2 

 4. 9x2 – 7xy + 7y2 

 
 

123. The diagonals of a rhombus are 16cm and 30cm then its perimeter is 
(in cm) 

s�+�dt jîTT¿£Ø ¿£s��\T esÁTd�>± 16 �d+.MT eT]jáTT 30 �d+.MT nsTTq  

<�� #áT³T¼¿=\Ôá (�d+.MT.\ýË) 

 1. 68 

 2. 60 

 3. 56 

 4. 64 



124. A right circular cylinder has base of radius 7cm and height is 14cm 
then its curved surface area is (in cm2) 

ÿ¿£ ç¿£eT e�Ô�ï¿±sÁ d�Ö�|�eTT jîTT¿£Ø uó�Öy�«kÍsÁ�eTT 7 �d+.MT eT]jáTT <�� 

mÔáTï 14 �d+.MT nsTTq <�� ç|�¿£ØÔá\ yîÕXæ\«eTT (�d+.MT
2
 \ýË) 

 1. 516 

 2. 616 

 3. 212 

 4. 625 

 

125. If  2
2

1 23x
x

+ =  then the value of  1x
x

+  is 

2
2

1 23x
x

+ =  nsTTq 
1x
x

+  $\Te 

 1. 10 

 2. 25 

 3. 8 

 4. 5 

 

 

126. If  5 42 5n n- -´  = 5 then the value of 3n  is  

5 42 5n n- -´  = 5  nsTTq 3n  jîTT¿£Ø $\Te 

 1. 16 

 2. 64 

 3. 125 

 4. 625 

 



127. If the angles of a quadrilateral are in the ratio 3 : 5 : 9 : 13 then four 
angles are (in degrees) 

ÿ¿£ #áÔáTsÁTÒÛÈeTTýË� ¿ÃD²\ �w�ÎÜï 3 : 5 : 9 : 13 nsTTq � H�\T>·T  

¿ÃD²\T (&�ç^\ýË) 

 1. 36, 60, 108, 156 

 2. 36, 64, 100, 150 

 3. 36, 60, 120, 144 

 4. 80, 120, 100, 80 

 

128. If the sides of a right angled triangle are 5cm, 12cm and 13cm then 
its area is equal to (cm2) 

ÿ¿£ \+�¿ÃD çÜuó�TÈeTT jîTT¿£Ø uó�TC²\T 5 �d+.MT, 12 �d+.MT eT]jáTT  

13 �d+.MT nsTTq <�� yîÕXæ\«eTT (�d+.MT
2
) 

 1. 60 

 2. 50 

 3. 30 

 4. 25 

 

129. The perimeter of an isosceles triangle is 30cm and each of the equal 
side is 12cm, then the area of the triangle is (in cm2) 

ÿ¿£ d�eT~Çu²V�Q çÜuó�TÈeTT jîTT¿£Ø #áT³T¼¿=\Ôá 30 �d+.MT eT]jáTT <��  

ç|�Ü d�eÖq uó�TÈeTT\T 12 �d+.MT nsTTq � çÜuó�TÈ yîÕXæ\«eTT  

(�d+.MT
2 
\ýË) 

 1. 10 15  

 2. 7 13  

 3. 9 15  

 4. 5 17  



130. If  a = 0,  b = –8, c = 2 then the value of  4a2 + 5abc – 7b2  is  

a = 0,  b = –8, c = 2  nsTTq 4a2 + 5abc – 7b2
 jîTT¿£Ø $\Te 

 1. –632 

 2. 136 

 3. –448 

 4. 128 
 

131. The word ‘Mathematics’ is derived from the following two words 

(A)  MANTHANO  (B) TECHNE    

(C)  MANTHANEIN  (D) MATHAINO 

 1. A and B 

 2. B and D 

 3. C and B 

 4. D and C 

 

‘Mathematics’ nHû |�<�eTT ç¿ì+~ Âs+&�T |�<�\qT+&� �ÔáÎq�yîT®q~ 

(A)  MANTHANO  (B) TECHNE    

(C)  MANTHANEIN  (D) MATHAINO 
 

 1. A eT]jáTT B 

 2. B eT]jáTT D 

 3. C eT]jáTT B 

 4. D eT]jáTT C 

 
 
 
 
 
 
 
 



132. “Attitudes, concepts and information” are the Educational values 
according to the classification made by, 

1. Breslich 

2. Young 

3. Munnik 

4. Black Harst 

 M] e¯Z¿£sÁD ç|�¿±sÁeTT »»<��¿£Î<¸�\T, uó²eq\T eT]jáTT d�eÖ#�sÁeTTµµ  

nqTq$ $<�«$\Te\T  

 1. çuÉd¾¢#Y 

 2. jáT+>´ 

 3. eTT��¿ù 

 4. u²¢¿ù V�äsYà ¼ 

 
 

133. “Awareness, Willingness and controlled attention” are the levels of 
this objective 

1. Organisation 

2. Responding 

3. Receiving 

4. Valuing  

 »Ôî\Td�T¿Ãe&�+, �w�¼|�&�³+, �jáT+çÜÔá ne<ó�qeTTµ nqTq$ kÍ�sTT\T>±  

>·\ \¿£� «eTT  

 1. e«ekÍ�|�q 

 2. ç|�Üd�Î+~+#á&�eTT 

 3. ç>·V¾²+#á&�+ 

 4. $\Te ¿£³¼&�eTT 

 
  



134. The specification “The learner is able to classify the given numbers 
into prime and composite numbers” comes under this objective   

1. Skill 

2. Application 

3. Understanding 

4. Knowledge 

 »nuó²«d�Å£�&�T �ºÌq d�+K«\qT ç|�<ó�q d�+K«\T, d�+jáTT¿£ï d�+K«\T>±  

$uó��+#á>·\&�Tµ ` nqTq~ � \¿£� «eTTqÅ£� #î+~q d�ÎwÓ¼¿£sÁD 

 1. HîÕ|�ÚD«eTT 

 2. $�jîÖ>·eTT 

 3. ne>±V�²q 

 4. C²ãqeTT 

 
 
135. This teaching method is suitable to verify the formula of 

circumference of a circle (C) = 2 p r by taking different circles with 
different radii  

1. Assignment method 

2. Lecture method 

3. Experimental method 

4. Analytic method 

 e�Ôáï|�]~ó (C) = 2 p r nHû d�ÖçÔ��� <ó��M¿£]+#áT³Å£� yûsÁTyûsÁT y�«kÍs��\T 

>·\ yûsÁTyûsÁT e�Ô�ï\qT rd�T¿=� uË~ó+#áT |�<�ÆÜ 

 1. �jîÖÈq |�<�ÆÜ 

 2. �|�H�«d� |�<�ÆÜ 

 3. ç|�jîÖ>· |�<�ÆÜ 

 4. $Xâ¢w�D |�<�ÆÜ 

 



136. This approach proceeds from “Particular cases to general rule” and 
“Concrete to Abstract aspects” 

1. Deductive approach  

2. Logical approach  

3. Inductive approach  

4. Analytic approach  

 »»ç|�Ôû«¿±+Xæ\ qT+º kÍ<ó�sÁD �jáTeÖ�¿ìµµ eT]jáTT »»eTÖsÁï $w�jáÖ\qT  

qT+º neTÖsÁï $w�jáÖ\Å£�µµ kÍ>·Tq³Te+{ì �|�>·eTeTT  

 

 1. �>·eTq �|�>·eTeTT 

 2. Ô�]Ø¿£ �|�>·eTeTT 

 3. �>·eTq �|�>·eTeTT 

 4. $Xâ¢w�D �|�>·eTeTT 

 
 
137. “Addition and Subtraction of decimal numbers” can be taught easily 

by using 

1. Domino cards 

2. Cuisenaire strips 

3. Abacus 

4. Cubic rods 

 B�� �|�jîÖÐ+º »»<�Xæ+Xø d�+K«\ d�+¿£\qeTT eT]jáTT  

e«e¿£\qeTTµµ \qT d�T\uó�+>± uË~ó+#áe#áTÌqT  

 

 1. &�$THÃ ¿±sÁT¦\T 

 2. Å£�«�dHîsTTsY |�{¡¼\T 

 3. |�Pd�\ #áç³eTT 

 4. |��TH�¿±sÁ|�Ú ¿£&�¦\T 

 
 
 

 



138. The value that is not a principle of curriculum construction is 

1. Preparatory value 

2. Cultural value 

3. Principle of discipline  

4. Principle of logical order 

 ç¿ì+~ y��ýË ¿£]Å£�\+ �s��D d�ÖçÔá+ ¿±�~ 

 1. d�H��V�²¿£ $\Te 

 2. kÍ+d�Ø �Ü¿£ $\Te 

 3. ç¿£eT¥¿£�D² d�ÖçÔáeTT 

 4. Ô�]Ø¿£ ç¿£eT d�ÖçÔáeTT 

 
 
139. “Expected behavioural outcomes and communication strategy” are 

the first two steps of  

1. Blooms evaluation based approach  

2. Morrisons approach  

3. R.C.E.M approach  

4. Herbartian approach  

 »�¥+ºq ç|�esÁïH� |��*Ô�\T, d�eÖ#�s��� n+~+#û eP«V�²+µ nqTq$  

yîTT<�{ì Âs+&�T kþbÍH�\T>± >·\ qeTÖH�  

 1. �Ö¢y�Tà eTÖý²«+¿£H�<ó�sÁ qeTÖH� 

 2. yîÖ]d�H� qeTÖH� 

 3. �sY.d¾.�.y�T. qeTÖH� 

 4. �V²s�ÒsY¼ qeTÖH� 

 
 
  



140. The academic standard to be tested through this test item is 
 “Write the integers 5, 3, -6, -8, and 2 in descending order” 

1. Reasoning -proof 

2. Communication 

3. Connection 

4. Representation – visualization  

 »5, 3, -6, -8 eT]jáTT 2 nqT |�PsÁ� d�+K«\qT nesÃV�²D ç¿£eTeTTýË  

s�jáT+&�µ ` B� <�Çs� |�̄ ¿ì�+#á>·\ $<�«ç|�eÖDeTT  

 1. ¿±sÁD²\T #î|�ð³ ` �sÁÖ|�D\T #ûjáTT³ 

 2. e«¿£ï|�sÁT#áT³ 

 3. nqTd�+<ó�qeTT 

 4. çbÍÜ�<ó�«|�sÁT#áT³ ` <��o«¿£sÁD 

 

141. The Electrical meter reading in Ramu’s house at the end of January 
is 320 and at the end of February is 400 units.  The amount of money 
his parents have to pay towards electricity bill in February if unit 
cost is Rs.2.50 

1. Rs.200 

2. Rs.1000 

3. Rs.800 

4. Rs.1720 

Èqe] Hî\ ºesÁ s�eTT y�Þøß �+{Ë¢ m\ç¿ì¼¿ù MT³sÁT ¯&�+>·T 320 jáTÖ.  

eT]jáTT |�¾ç�e] ºesÁ 400 jáTÖ. ÿ¿£ jáTÖ�{ÙÅ£� sÁÖ.2.50 �|Õ. e+ÔáTq  

|�¾ç�e]ýË s�eTTy�Þøß Ôá*¢<�+ç&�T\T #î*¢+#áe\d¾q $<�T«ÔY _\T¢  
1. sÁÖ.200 

2. sÁÖ.1000 

3. sÁÖ.800 

4. sÁÖ.1720 



142. The property of light that causes the formation of inverted image on 
the screen in pinhole camera is   

1. Reflection of light 

2. Refraction of light 

3. Rectilinear propagation of light 

4. Bending of light rays at an edge 

|¾H��VAýÙ Â¿yîTs� ÔîsÁq+<�T Ôá\¢ç¿ì+<�TýÉÕq ç|�Ü_+�+ @sÁÎ&�T³Å£� ¿±sÁDyîT®q 

¿±+ÜjîTT¿£Ø \¿£�D+ 
1. ¿±+Ü |�s�esÁïq+ 

2. ¿±+Ü eç¿¡uó�eq+ 

3. ¿±+Ü �TTEeÖsÁZ ç|�jáÖD+ 

4. n+#áTe<�Ý ¿±+Ü e+Ð ç|�jáÖDì+#á&�+ 

 
143. One of the following is not true regarding the propagation of sound 

wave 

1. the particles move to and fro about mean position. 

2. the particles move along the wave. 

3. the particles vibrate parallel to the direction of wave. 

4. it requires a material medium. 

<ó�Ç� ç|�d�sÁDÅ£� d�+�+~ó+º ç¿ì+~ y��ýË d�]¿±�~. 
1. ¿£D²\T $s�eTkÍ�q+ qT+&� eTT+<�TÅ£� yîqT¿£Å£� ¿£<�T\TÔ�sTT. 

2. ¿£D²\T ÔásÁ+>·+ yî+³ ¿£<�T\TÔ�sTT. 

3. ¿£D²\T ÔásÁ+>·+ #á\q ~XøÅ£� d�eÖ+ÔásÁ+>± ¿£<�T\TÔ�sTT. 

4. B�¿ì jáÖq¿£+ ned�sÁ+. 

 

  



144. One of the following is not correct regarding motion of objects 

1. all circulatory motions are rotatory. 

2. all rotatory motions need not be circular. 

3. all vibratory motions are periodic. 

4. all periodic motions are vibratory. 

ed�TïeÚ\ #á\H�\Å£� d�+�+~ó+º ç¿ì+~ y��ýË d�]¿±�~. 
1. e�Ô�ï¿±sÁ #á\H�\ú� çuó�eTD#á\H�ýñ 

2. çuó�eTD#á\H�\ú� e�Ô�ï¿±sÁ #á\H�\T ¿±qed�sÁ+ ýñ<�T 

3. ¿£+|�q #á\H�\ú� �esÁïq #á\H�ýñ 

4. �esÁïq #á\H�\ú� ¿£+|�q #á\H�ýñ 

 

145. Number of stars present in ‘Sharmista’ 

»Xø]�w�¼s�¥µ ýË >·\ q¿£�çÔ�\ d�+K« 

1. 7 

2. 6 

3. 5 

4. 4 

 

  



146. The mass of 0.2 moles of Oxygen atom is  

1. 16 g 

2. 3.2 g 

3. 8 g 

4. 1.6 g 

0.2 yîÖýÙ\ �¿ìàÈH� |�sÁeÖDTeÚ ç<�e«s�¥ 
1. 16 ç>±. 

2. 3.2 ç>±. 

3. 8 ç>±. 

4. 1.6 ç>±. 

 

147. One of the following is a chemical displacement reaction   

ç¿ì+~ y��ýË ÿ¿£{ì sÁkÍjáTq kÍ�qçuó�+Xø #ásÁ« 

1. CaO + H2O → Ca (OH)2 + heat 

2. Ca (OH)2 + CO2 → CaCO3 + H2O 

3. CaCO3 → CaO + CO2 

4. Zn + CuSO4 →  ZnSO4 + Cu 

 
  



148. Coke is used in   

1. Preparation of naphthalene 

2. Manufacture of Synthetic dyes 

3. Manufacture of steel 

4. Manufacture of explosives  

¿Ã¿ùqT B�ýË y�&�Ô�sÁT 
1. H�|��ï©H� ÔájáÖ¯ýË 

2. ¿£�çÜeT n<�Ý¿±\ ÔájáÖ¯ýË 

3. dÓ¼\T ÔájáÖ¯ýË 

4. ç�|\T&�T |�<�s��\ ÔájáÖ¯ýË 

 

149. A correct statement regarding physical change is…. 

1. The substance loses its identity 

2. Composition of substance is altered 

3. It is a permanent change 

4. No new substances are formed. 

uó�Ü¿£ eÖsÁTÎqÅ£� d�+�+~ó+º d�ÂsÕq y�¿£«+.... 
1. |�<�sÁ�+ <�� d�Çuó²y��� ¿ÃýËÎÔáT+~ 

2. |�<�sÁ� d�+|��T³q eÖsÁTqT 

3. �~ XæXøÇÔá eÖsÁTÎ 

4. ç¿=Ôáï |�<�s��ýñM @sÁÎ&�eÚ 

 

  



150. Ascending order of the pH values of gastric fluid, vinegar and  
milk is  

1. gastric fluid < vinegar < milk 

2. vinegar < gastric fluid < milk 

3. milk < vinegar < gastric fluid 

4. milk < gastric fluid < vinegar 

»>±«çd¾¼¿ù sÁd�+, $�>·sY, bÍ\Tµ \ pH $\Te\ �sÃV�²Dç¿£eT+ 
1. >±«çd¾¼¿ù sÁd�+ < $�>·sY < bÍ\T 

2. $�>·sY < >±«çd¾¼¿ùsÁd�+ < bÍ\T 

3. bÍ\T < $�>·sY < >±«çd¾¼¿ù sÁd�+ 

4. bÍ\T < >±«çd¾¼¿ù sÁd�+ < $�>·sY 

 

151. A sample of food item is tested with dilute iodine solution, it turns 
dark blue. The sample is rich in 

 1. Cellulose  

 2. Starch 

 3. Protein  

 4. Fats 

 �V�äsÁ |�<�sÁ� qeTÖH��� d�È\ njîÖ&�H� ç<�eD+ÔÃ |�̄ ¿ì�+ºq|�Ú&�T, �  

|�<�sÁ�+ eTT<�TsÁT ú* sÁ+>·TýË¿ì eÖ]+~. � �V�äsÁ |�<�sÁ�+ýË n~ó¿£+>±  

�q�~ 

 1. �d\T«ýËCÙ 

 2. |¾+&�|�<�sÁ�+ 

 3. çbõ{¡H� 

 4. ¿=eÚÇ\T 

  



152. To identify a female flower, its chief character should be 

 1. Attractive petals  

 2. Strong sepals 

 3. Stamens  

 4. Pistil 

 ÿ¿£ |�ÚcÍÎ�� çdÓï |�Úw�Î+ n� >·T]ï+#áT³Å£� <��¿ì �+&�e\d¾q eTTK« \¿£�D+. 

 1. n+<�yîT®q �¿£sÁü¿£ |�çÔ�\T 

 2. <��&ó�yîT®q sÁ¿£�¿£ |�çÔ�\T 

 3. ¹¿d�s�e[ 

 4. n+&�¿ÃXø+ 

 

153. To find the type of soil, Sita made a cylinder with the soil. Based on 
the following observations she infered the soil is light loamy 

 1. It broke while trying to bend the cylinder. 

 2. It broke while trying to make it a cylinder. 

 3. It formed a ring without cracks. 

 4. It formed a ring but it has cracks. 

 eT{ì¼ sÁ¿±�� ¿£qT>=qT³Å£� dÓÔá � eT{ì¼ qeTÖH�ýË ÿ¿£ d�Ö�bÍ�� ÔájáÖsÁT  

#ûd¾+~. ç¿ì+~ |�]o\q\ �<ó�sÁ+>± � eT{ì¼ Ôû*¿£bÍ{ì e+&�* n�  

�s��]+#áTÅ£�+~  

 1. d�Ö�|�+qT e+#û ç|�jáTÔá�+ýË $]ÐbþsTT+~. 

 2. d�Ö�|�+>± #ûd�Tïq� ç|�jáTÔá�+ýËHû $]ÐbþsTT+~. 

 3. |�>·TÞø�ß ýñ� e\jáT+ ÔájáÖsÁsTT+~. 

 4. e\jáT+ ÔájáÖsÁsTT+~ ¿±� |�>·TÞøßqT ¿£*ÐjáTT+~. 

 

 

 



154. Living tissue with prominent nucleus and abundant cytoplasm 
present in  

 1. Vascular tissue  

 2. Dermal tissue 

 3. Aerenchyma tissue 

 4. Meristematic tissue 

 d�Îw�¼yîT®q ¹¿+ç<�¿±��, mÅ£�Øe Je|�<�s���� ¿£*Ð �+&û d�Je ¿£D²\T  

� ¿£DC²ý²�¿ì #î+<�TqT. 

 1. ç|�d�sÁD ¿£DC²\+ 

 2. ÔáÇ#á¿£DC²\+ 

 3. y�jáTTjáTTÔá ¿£DC²\+ 

 4. $uó²È« ¿£DC²\+ 

 

155. The adaptation that the animals living in cold regions is 

 1. Thick layer of fat acts as a conductor of heat.  

 2. Thick layer of fur acts as a conductor of heat. 

 3. Layers of fat and fur acts as good insulators of heat.  

 4. Layers of fat and fur acts as poor insulators of heat. 

 oÔá\ çbÍ+Ô�\ýË �ed¾+#û JeÚ\T ¿£*Ð eÚq� nqTÅ£L\H�\T. 

 1. <�Þød�] ¿=eÚÇ bõsÁ �w��y�V�²¿£+>± |��#ûjáT&�+. 

 2. <�Þød�] ��� bõsÁ �w��y�V�²¿£+>± |��#ûjáT&�+. 

 3. ¿=eÚÇ eT]jáTT ���bõsÁ\T �ÔáïeT �w���+<ó�¿±\T>± |��#ûjáT&�+. 

 4. ¿=eÚÇ eT]jáTT ���bõsÁ\T n<ó�eT �w���+<ó�¿±\T>± |��#ûjáT&�+. 

  



156. Advertisers are very skilled to change the behaviour of the people. 
This type of behaviour belongs to 

 1. Imitation 

 2. Conditioning 

 3. Instinct  

 4. Imprinting 

 ç|�¿£³q sÁ+>·+ y�sÁT ÔáeT HîÕ|�ÚD«+ e\q ç|�È\ ç|�esÁïq\qT eÖsÁÌ>·\sÁT. 

� sÁ¿£yîT®q ç|�esÁïq B�¿ì #î+<�TÔáT+~. 

 1. nqT¿£sÁD 

 2. ��+<ó�q 

 3. d�V�²C²Ôá ç|�e�Üï 

 4. nqTd�sÁD 

 

157. The non pigmented plastids are 

 1. Chromoplasts 

 2. Leucoplasts 

 3. Chloroplasts  

 4. Xanthophylls 

 esÁ�sÁV¾²Ôá bÍ¢d¾¼&�T¢ 

 1. ç¿ÃyîÖbÍ¢d�T¼\T 

 2. \Ö«¿ÃbÍ¢d�T¼\T 

 3. ¿Ã¢sÃbÍ¢d�T¼\T 

 4. C²+<¸Ã|�¾ýÙà 

  



158. This malnutrition leads to swollen body parts due to accumulation of 
water in the intercellular spaces. 

 1. Calorie malnutrition  

 2. Protein malnutrition  

 3. Protein-calorie malnutrition 

 4. Obesity 

 Xø̄ sÁ uó²>±\ýË� ¿£D²+Ôás�e¿±Xæ\ýË úsÁT #û] �_Òq³T¢>± �+&�{²�¿ì  

¿±sÁDyîT®q bþw�¿±V�äsÁ ýË|�+. 

 1. ¹¿\¯\ bþw�¿±V�äsÁ ýË|�+ 

 2. çbþ{¡H�\ bþw�¿±V�äsÁ ýË|�+ 

 3. çbþ{¡H�-¿±\¯\ bþw�¿±V�äsÁ ýË|�+ 

 4. d�Ö�\¿±jáTÔáÇ+ 

 

159. Seed eating Darwin’s finches are  

 1. large ground finches 

 2. cactus ground finches 

 3. vegetarian finches 

 4. wood pecker finches 

 &�]ÇH� |�¾+#Y |�Å£��ýË¢ Ð+È\qT ÜHû+<�TÅ£� nqTyîÕqsÁ¿£eTT 

 1. ý²sŸ ç>�+&� |�¾+#Y\T 

 2. ¿±¿£¼dt ç>�+&� |�¾+#Y\T 

 3. yî�fñ]jáTH� |�¾+#Y\T 

 4. eÚ&� �|¿£ØsY |�¾+#Y\T 

  



160. The part which is not associated with reflex action is 

 1. Spinal cord  

 2. Brain 

 3. Sensory neuron  

 4. Inter neuron 

 ç|�r¿±sÁ #ásÁ«ýË bÍý¤Zq� uó²>·+ 

 1. yîqT�bÍeTT 

 2. yîT<�&�T 

 3. C²ãq H�&� 

 4. eT<�«d�� H�&�¿£D+ 

 

161. One of the following is not true with respect to the functions of facts 

 1. Facts initiate theories 

 2. Facts redefine and clarify a theory 

 3. Facts cannot influence existing theories 

 4. Facts are the basic roots for any theory or law 

 jáT<�s��\ $<ó�T\Å£� d�+�+~ó+º ç¿ì+~ y��ýË ÿ¿£{ì d�]jî®Tq~ ¿±<�T 

 1. jáT<�s��\T d¾<�Æ+Ô�\Å£� H�+~ |�\TÅ£�Ô�sTT 

 2. jáT<�s��\T d¾<�Æ+Ô��� |�ÚqsY�sÁÇº+º, d�Îw�¼ÔáqT #ûÅ£LsÁTkÍïsTT 

 3. ç|�d�TïÔá+ �q� d¾<�Æ+Ô�\qT jáT<�s��\T ç|�uó²$Ôá+ #ûjáTýñeÚ 

 4. @ d¾<�Æ+Ô��Â¿ÕH�, �jáTeÖ�Â¿ÕH� jáT<�s��ýñ d�Ö�\ eTÖý²\T 

  



162. “By pursuing truth, the harmony in nature is revealed”. 
This statement reflects one of the following set of values of science. 

 1. Moral and psychological 

 2. Training and cultural 

 3. Intellectual and aesthetic 

 4. Training and psychological 

 »»d�Ôá«+ <�Çs�, ç|�¿£�ÜýË� d�eTqÇjáT+ Ôî*d¾¿=q�&�+~.µµ  

� ç|�e#áq+ ç¿ì+~ $C²ãqXæg $\Te\ÈÔáýË ÿ¿£<��� Ôî*jáTCñd�Tï+~. 

 1. HîÕÜ¿£ eT]jáTT eTHÃyîÕC²ã�¿£ 

 2. ¥¿£�D eT]jáTT kÍ+d�Ø �Ü¿£ 

 3. u�~Æ¿£ eT]jáTT kå+<�s�«Ôá�¿£ 

 4. ¥¿£�D eT]jáTT eTHÃyîÕC²ã�¿£ 

 

163. The experiment to prove various variables of photosynthesis is so 
lengthy to be conducted at a time by a single student; the type of 
laboratory method that is adopted in this case is 

 1. Group method 

 2. Class-front method 

 3. Assignment method 

 4. Part method  

 ¿ìsÁDÈq«d�+jîÖ>· ç¿ìjáTýË� $$<ó� ¿±sÁ¿±\qT �sÁÖ|¾+#á{²�¿ì #û�d  

ç|�jîÖ>·+ #�\ �|<�Ý<îÕq|�Ú&�T, ÿ¹¿ $<�«]� <��� ÿ¿£ØkÍ]>±  

�sÁÇV¾²+#áýñq³¢sTTÔû, �|�jîÖÐ+#û ç|�jîÖ>· |�<�ÆÜ 

 1. È³T¼ |�<�ÆÜ 

 2. ¿±¢dt̀ ç|��+{Ù |�<�ÆÜ 

 3. �jîÖÈq |�<�ÆÜ 

 4. uó²>±\ |�<�ÆÜ 



164. The main resource for intellectual, physical and natural sources of 
learning experiences is 

 1. School 

 2. Society 

 3. Home 

 4. Classroom 

 u�~Æ¿£, uó�Ü¿£ eT]jáTT d�V�²È eqsÁT\ nuó�«d�H�qTuó�y�\ ç|�<ó�q eqsÁT   

 1. bÍsÄÁXæ\ 

 2. d�eÖÈeTT 

 3. >·�V�²eTT 

 4. ÔásÁ>·Ü>·~ 

 

165. The curriculum construction principle which states that the 
curriculum should give importance to individual experimental 
experiences and field experiences is 

 1. Principle of activity centred 

 2. Principle of creativity 

 3. Principle of utility 

 4. Principle of maturity 

 bÍsÄÁ«ç|�D²[¿£ e«¿ìï>·Ôá ç|�jîÖ>·Xæ\ nqTuó�y�\Å£�, �ÔásÁ ¹¿�çÔá nqTuó�y�\Å£�  

çbÍ<ó�q«Ôá �y�Ç\� Ôî*jáT#û�d d�ÖçÔá+ 

 1. ¿£�Ôá« ¹¿+çB¿£�Ôá d�ÖçÔá+ 

 2. d��ÈH�Ôá�¿£ d�ÖçÔá+ 

 3. �|�jîÖÐÔá d�ÖçÔá+ 

 4. |�]|�¿£ÇÔá d�ÖçÔá+ 

 

 



166. Ptylin : Carbohydrates : :         :  Proteins – This type of question is   

 1. Matching type 

 2. Classification type 

 3. Fill in the blank type  

 4. Analogy type  

 ³jáT*H� : |¾+&�|�<�s��\T : :       : eÖ+d�¿£�ÔáTï\T ` �~ � sÁ¿£|�Ú ç|�Xø� 

 1. ÈÔá|�sÁ#ûsÁ¿£eTT 

 2. e Z̄¿£sÁD ç|�Xø�\T 

 3. U²°\qT |�P]+#ûsÁ¿£+ 

 4. kÍ<��Xø« ç|�Xø�\T 

 

167. The essential new items that are necessary for the lab are noted in 
this register. 

 1. Requirement register 

 2. Order register 

 3. Temporary register 

 4. Consumable register 

 ned�sÁyîT®q ç¿=Ôáï kÍeÖçÐ� ç|�jîÖ>·Xæ\Å£� #ûÅ£LsÁÌe\d¾q y�{ì� �+<�TýË  

qyîÖ<�T #ûkÍïsÁT. 

 1. ]Â¿ÕÇsYyîT+{Ù ]�w�¼sÁT 

 2. �sÁ¦sY ]�w�¼sÁT 

 3. Ô�Ô�Ø*¿£ ]�w�¼sÁT 

 4. y�&ûed�TïeÚ\ ]�w�¼sÁT 

 

 

?

?



168. One of the following does not come under principles of teaching and 
maxims of learning 

 1. from known to unknown 

 2. from abstract to reasoning 

 3. from observation to experimentation 

 4. from concrete to abstract 

 ç¿ì+~ y��ýË ÿ¿£{ì uË<ó�H�d�ÖçÔ�\T, nuó�«d�H� �jáTeÖ\ |�]~¸ýË�¿ì  

s�<�T 

 1. Ôî*d¾q n+Xæ\ qT+&� Ôî*jáT� n+Xæ\yîÕ|�Ú 

 2. neTÖsÁï+ qT+&� ¯È�+>´ (�V²ÔáT�<�ÆÔá) yîÕ|�Ú 

 3. |�]o\q qT+&� ç|�jîÖ>±\ yîÕ|�Ú 

 4. eTÖsÁï+ qT+&� neTÖsÁï+ yîÕ|�Ú 

 

169. The use of school garden is   

 1. students can play in the garden 

 2. students get direct experience 

 3. students can get fruits and vegetables free of cost 

 4. teachers get rest when they are in the garden 

 �&� ÔÃ³ �|�jîÖ>·+ 

 1. $<�«sÁT�\T �³\T �&�T¿Ã&��¿ì 

 2. $<�«sÁT�\T ç|�Ôá«¿£� nqTuó�y�\T bõ+<�&��¿ì 

 3. $<�«sÁT�\T Å£LsÁ>±jáT\T, |�+&�T¢ �ºÔá+>± bõ+<�&��¿ì 

 4. �bÍ<ó�«jáTT\T ÔÃ³ýË $çXæ+Ü bõ+<�&��¿ì 

 

 



170. Expand INSPIRE 

 1. International Science Programme in Research and Education 
 2. Innovation in Science Programme for Research in Education 

 3. Inspired Science Programme in Research Education 

 4. Innovation in Science Pursuit for Inspired Research 

 INSPIRE qT $d�ï]+#á+&�. 

 1. �+³¹s�w�qýÙ �dÕH�à çbþç>±y�T �H� ¯d�sYÌ n+&� m&�T«¹¿w�H� 

 2. �H=�yûw�H� �H� �dÕH�à çbõç>±y�T |��sY ¯d�sYÌ �H� m&�T«¹¿w�H� 

 3. �H�à�díÎsY¦ �dÕH�à çbõç>±y�T �H� ¯d�sYÌ m&�T«¹¿w�H� 

 4. �H=�yûw�H� �H� �dÕH�à |�sÁÖà«{Ù |��sY �H�à�díÎsY¦ ¯d�sYÌ 

 

171. As per 2011 census the second state in highest density of population 
in India 

 1. Bihar 

 2. West Bengal 

 3. Kerala 

 4. Andhra Pradesh 

 2011 ÈH�uó² ýÉ¿£Ø\T ç|�¿±sÁ+ uó²sÁÔá<ûXø+ýË ÈqkÍ+ç<�ÔáýË Âs+&�e kÍ�q+ýË

�q� s�çw�¼+ 

 1. ;V�äsY 

 2. |�¥ÌeTuÉ+>±ýÙ 

 3. ¹¿sÁÞø 

 4. �+ç<ó�ç|�<ûXÙ 

 

 

 



172. These forests are not found in Andhra Pradesh 

 1. Evergreen forests 

 2. Deciduous forests 

 3. Thorny forests 

 4. Littoral and Swamp forests 

 � ¿ì+~ n&�eÚ\ýË �+ç<ó�ç|�<ûXÙýË ýñ� n&�eÚ\T 

 1. d�ÔáÔáV�²]Ôá n&�eÚ\T 

 2. �Å£�s�\TÌ n&�eÚ\T 

 3. eTTÞøß n&�eÚ\T 

 4. d�eTTç<�rsÁ|�Ú ºÔáï&� n&�eÚ\T 

 

173. Hindu Mahasabha was formed in this year with the objective of 
uniting Hindus 

 V¾²+<�TeÚ\qT @¿£+#û�d �<ûÝXø«+ÔÃ V¾²+<�ÖeTV�äd�uó� @sÁÎ&�q d�+eÔáàsÁ+ 

 1. 1925 

 2. 1915 

 3. 1905 

 4. 1935 

 
 

174. The article 15 of the constitution of India explains the structure of 
Election Commission according to this rule 

 uó²sÁÔá s�C²«+>·+ýË� 15e uó²>·+ýË� � ��+<ó�q m��¿£\ d�+|��T+  

�s��D+, $<ó�T\ >·T]+º $e]d�Tï+~. 

 1. 320 

 2. 302 

 3. 334 

 4. 324 



175. The another title of the first newspaper ‘Bengal Gazette’ in India is  

 1. The Indian Gazette 

 2. The Calcutta Gazette 

 3. Calcutta Advertiser 

 4. Bengal Journals 

 uó²sÁÔá<ûXø+ýË� yîTT<�{ì y�s�ïç|�Ü¿£ »uÉ+>±ýÙ Â>�{Ùµ jîTT¿£Ø eTsÃ�|sÁT 

 1. �+&�jáTH� Â>CÉ{Ù 

 2. ¿£\¿£Ô�ï Â>CÉ{Ù 

 3. Å£\¿£Ô�ï n&�ÇfÉ®ÈsY 

 4. uÉ+>±ýÙ ÈsÁ�ýÙà 

 

176. Columbus set out with three ships in this year to cross the  
Atlantic Ocean. 

 ¿=\+�dt n{²¢+{ì¿ù eTV�äd�eTTç<��� <�³&�+ ¿Ãd�+ eTÖ&�T Hê¿£\ÔÃ  

ç|�jáÖDyîT®q d�+eÔáàsÁ+. 

 1. 1498 

 2. 1489 

 3. 1492 

 4. 1472 
  



177. The Mughal Emperor who ruled from 1556-1605 A.D.  

 1. Humayun 

 2. Shahjahan 

 3. Jahangir 

 4. Akbar 

 ç¿¡.Xø. 1556 ` 1605 esÁÅ£� |�]bÍ*+ºq yîTT>·\T #áç¿£e]ï 

 1. V�QeTjáTÖH� 

 2. cÍÈV�äH� 

 3. ÈV�²+^sY 

 4. n¿£ÒsY 

 

178. “Andhra Pradesh prohibition of smoking and health protection act” 
was made in this year 

 »»�+ç<ó�ç|�<ûXÙ <ó�ÖeTbÍq ��w<ó�+, �sÃ>·« |�]sÁ¿£�D #á³¼+µµ #ûjáT�&�q  

d�+eÔáàsÁ+ 

 1. 2005 

 2. 2002 

 3. 2009 

 4. 2011 
  



179. The teachings of this saint openly ridiculed all forms of external 
worship of both Hinduism and Islam. 

 1. Kabir 

 2. Guru Nanak 

 3. Tulsidas 

 4. Surdas 

 � d�H�«d¾ uË<ó�q\T V¾²+<�Ö, �kÍ¢y�T eTÔá|�sÁyîT®q u²V�²« �s�<ó�q\qT  

�V¾²sÁ+>·+>± m>·Ô�[#ûkÍsTT. 

 1. ¿£;sÁT 

 2. >·TsÁTH�q¿ù 

 3. ÔáT\dÓ<�d�T 

 4. d�ÖsÁ<�d�T 

 

180. After the failure of the Cripps Mission, Mahatma Gandhi decided to 
launch this movement against the British rule 

 1. Civil Disobedience Movement 

 2. Non-cooperation Movement 

 3. Quit India Movement 

 4. Home Rule Movement 

 ç¿ì|tà <êÔá«+ $|��\yîT®q ÔásÁTy�Ôá ç_{ìwt bÍ\qÅ£� e«Ü¹s¿£+>± eTV�äÔ��>±+Bó 

çbÍsÁ+_ó+ºq �<�«eT+ 

 1. Xæd�HÃ\¢+|��Tq �<�«eT+ 

 2. d�V�äjáT �s�¿£sÁD �<�«eT+ 

 3. ¿ìÇ{Ù �+&�jáÖ �<�«eT+ 

 4. V�²Ã+sÁÖýÙ �<�«eT+ 

 



181. The States Reorganisation Act was passed in this year  

 s�çcÍ¼\ |�Úq'e«edÓ�¿£sÁD #á³¼+ �yîÖ~+#á�&�q d�+eÔáàsÁ+ 

 1. 1952 

 2. 1953 

 3. 1956 

 4. 1958 

 

182. Fisheries, agriculture, cattle rearing come under this sector 

 1. Secondary 

 2. Primary 

 3. Tertiary 

 4. Information Technology 

 #û|�\ �|+|�¿£+, e«ekÍjáT+, |�Xø�eÚ\ �|+|�¿£+ � sÁ+>·+ |�]~¸ýË�¿ì  

ekÍïsTT. 

 1. ~ÇrjáT 

 2. çbÍ<�̧$T¿£ 

 3. Ôá�rjáT 

 4. d�eÖ#�sÁ kÍ+¹¿Ü¿£ 

  



183. The Indus river flows through these states of India 

 1. Jammu Ê Kashmir, Punjab, Himachal Pradesh 

 2. Punjab, Haryana, Uttar Pradesh 

 3. Himachal Pradesh, Uttar Pradesh, Bihar 

 4. Jammu & Kashmir, Punjab, Gujarat 

 uó²sÁÔá<ûXø+ýË� � s�çcÍ¼\ýË d¾+<ó�Öq~ ç|�eV¾²d�Tï+~. 

 1. ÈeTÖ� Ê ¿±o�sY, |�+C²uÙ, V¾²eÖ#áýÙç|�<ûXÙ 

 2. |�+C²uÙ, V�²s�«H�, �ÔáïsÁç|�<ûXÙ 

 3. V¾²eÖ#áýÙç|�<ûXÙ, �ÔáïsÁç|�<ûXÙ, ;V�äsY 

 4. ÈeTÖ� Ê ¿±o�sY, |�+C²uÙ, >·TÈs�ÔY 

 

184. In 2011 ‘Nirmala Grama Puraskar’ award was given to this small 
village Panchayat in East Godavari 

 1. Pasalapudi 

 2. Kothapeta 

 3. Velangi 

 4. Jegurupadu 

 2011e d�+eÔáàsÁ+ýË »�sÁ�\ ç>±eT|�ÚsÁkÍØsYµ ny�sÁT¦qT bõ+~q 

ÔáÖsÁTÎ >Ã<�e] �ý²¢ýË� ÿ¿£ ºq� ç>±eT |�+#�sTTÜ 

 1. |�d�\|�P&� 

 2. ¿=Ôáï�|³ 

 3. yûÞø+Ð 

 4. Cñ>·TsÁTbÍ&�T 

  



185. Stone tools were excavated in Nandra village in this State.   

 1. Madhya Pradesh 

 2. Maharashtra 

 3. Uttar Pradesh 

 4. Haryana 

 çÔáeÇ¿±\ýË \uó�«yîT®q s�Ü|��eTT³T¢ >·\ q+ç<� ç>±eT+ � s�çw�¼+ýË ¿£\<�T. 

 1. eT<ó�«ç|�<ûXÙ 

 2. eTV�äs�çw�¼ 

 3. �ÔáïsÁç|�<ûXÙ 

 4. V�²s�«H� 

 

186. The winds that flow along the northern slope of Alps Mountains are 
called  

 1. Mistral 

 2. Loo 

 3. Foehn 

 4. Yoma 

 �ýÙÎà |�sÁÇÔ�\ �ÔáïsÁy�\T\ MT<�T>± M#û |�eH�\qT �ý² |¾\TkÍïsÁT. 

 1. $TçkÍ¼ýÙ 

 2. \Ö 

 3. b�þH� 

 4. jîÖeÖ 

  



187. The place of India in the production of sugar and Jaggery are 
respectively  

 1. First, Second 

 2. Second, First 

 3. First, Third 

 4. Second, Third 

 |�+#á<�sÁ eT]jáTT uÉ\¢+ �ÔáÎÜïýË uó²sÁÔá<ûXø+ kÍ�H�\T esÁTd�>±  

 1. yîTT<�{ì, Âs+&�e 

 2. Âs+&�e, yîTT<�{ì 

 3. yîTT<�{ì, eTÖ&�e 

 4. Âs+&�e, eTÖ&�e 

 

188. In 16th century ‘Seaborne Empire’ over the Indian Ocean was 
established by this country 

 1. Holland 

 2. England 

 3. Germany 

 4. Portugal 

 16e XøÔ��Ý+ýË V¾²+<�Ö eTV�äd�eTTç<�+�| Õ »d�eTTç<� kÍçeÖC²«��µ kÍ�|¾+ºq  

<ûXø+ 

 1. V�äýÉ+&� 

 2. �+>±¢+&� 

 3. ÈsÁ�ú 

 4. bþsÁTÌ>·ýÙ 

 



189. “Welfare for women labourers” law was made in this year 

 »»eTV¾²Þ² ¿±]�Å£�\ d�+¹¿�eT+µµ ¿Ãd�+ #á³¼+ #ûjáT�&�q d�+eÔáàsÁ+  

 1. 1871 

 2. 1881 

 3. 1891 

 4. 1911 

 

190. ‘Pichola’ lake is an important lake in this city  

 1. Udaipur 

 2. Jodhpur 

 3. Jaipur 

 4. Bharatpur 

 »|¾#Ãý²µ d�sÁd�Tà � q>·sÁ+ýË eTTK«yîT®q d�sÁd�Tà 

 1. �<�jáT|�PsY 

 2. CË<ó�|�PsY 

 3. CÉÕ|�PsY 

 4. uó�sÁÔY|�PsY 

  



191. The present Social Studies text books at elementary level in our state 
are developed based on this approach.  

1. Topical approach 

2. Thematical approach 

3. Spiral approach 

4. Chronological approach 

ç|�d�TïÔá+ eTqs�çw�¼+ýË m*yîT+³¯ kÍ�sTTýË� kÍ+|�¾T¿£Xæçd�ï bÍsÄÁ«|�Úd�ï¿±\T  

� �|�>·eTeTT �<ó�sÁ+>± sÁÖbõ+~+#á�&�q$. 
1. n+Xø̄ Ü �|�>·eTeTT 

2. �Üe�Ôáï �|�>·eTeTT 

3. esÁTïý �|�>·eTeTT 

4. ¿±ý²qT>·TD �|�>·eTeTT 

  



192. The National Policy on Education-1986 has not focused on these 
items while preparing Social Studies Curriculum.  

1. Indian Freedom Movement, Gender equality, Environment 
protection. 

2. Small family norm, development of Scientific approach and 
Equality. 

3. Rights and Duties provided in the Constitution, Indian 
Cultural Heritage. 

4. Development of Disparities, Diversity and Socio-cultural 
gaps among the citizens. 

kÍ+|�¾T¿£Xæçd�ï $<�«ç|�D²[¿£ sÁÖ|�¿£\ÎqýË � ¿ì+~ n+Xæ\�|Õ C²rjáT 

$<�«$<ó�q+ ` 1986 <��w¾¼ �|³¼ýñ<�T. 
1. uó²sÁÔá<ûXø kÍÇÔá+çÔÃ«<�«eTeTT, çdÓï, |�ÚsÁTw� d�eÖqÔáÇ+, |�]d�s�\  

|�]sÁ¿£�D. 

2. ºq�Å£�³T+� uó²eq, XæçdÓïjáT <��¿£Î<¸�_óe�~Æ, d�eÖqÔáÇ+. 

3. s�C²«+>·eTTýË bõ+<�T|�sÁºq V�²Å£�Ø\T, u²<ó�«Ôá\T, uó²sÁÔá<ûXø 

kÍ+d�Ø �Ü¿£ y�sÁd�ÔáÇ d�+|�<�. 

4. båsÁT\ýË nd�eÖqÔá\T, _óq�ÔáÇeTT, kÍ+|�¾T¿£̀ kÍ+d�Ø �Ü¿£  

n+Ôás�\ �|+|�Ú<�\ 

 
  



193. While teaching Environmental Studies at primary level, this learning 
approach provides scope for identifying the innate abilities in 
learners and provides learning as per their level of competencies.  

1. Content approach 

2. Inductive approach 

3. Activity based approach  

4. Fusion approach 

� nuó�«d�H� �|�>·eT+, çbÍ<�̧$T¿£ kÍ�sTTýË |�]d�s�\ $C²ãq uË<ó�q  

È]¹>³|�Ú&�T nuó²«d�Å£�\ n+ÔásÁZÔá kÍeTs��«\qT >·T]ï+#áTq³T¢>±, y�]  

kÍeTs��«\Å£� nqT>·TD+>± nuó�«d�q ÈsÁT>·Tq³T¢>± kÍ�q+ ¿£*Îd�Tï+~. 
1. $w�jáÖ<ó�sÁ �|�>·eTeTT 

2. �>·eTH�Ôá�¿£ �|�>·eTeTT 

3. ¿£�Ô�«<ó�sÁ �|�>·eTeTT 

4. d�$T�çXøD �|�>·eTeTT 

 

194. “A rural community is a cluster of people living within a narrow 
territorial radius who share a common way of life” – this statement 
is quoted by   

1. A.W. Green 

2. Rolf Taylor 

3. Heridotus 

4. Amarthya Sen 

»»ç>±MTD d�eÖÈ+ n+fñ nÜÔáÅ£�Øe uó�>Ã[¿£ ç|�<ûXø+ýË ÿ¹¿sÁ¿£yîT®q Jeq  

$<ó�H��� ¿£*Ð �ed¾+#û d�eTÖV�²+µµ ` n� �|s=Ø�q~. 
1. m.&��T¢. ç^H� 

2. s�ýÙÎÛ fñ\sY 

3. �V²]&Ã³dt 

4. neTsÁï« �dH� 



195. A Class-VIII, student is able to draw the graphical representations of 
population growth, analyse and comment on the results. It reflects 
this competency   

1. Conceptual understanding 
2. Information skills 
3. Reflection on contemporary issues 
4. Appreciation and Sensitivity 

ÿ¿£ 8e ÔásÁ>·Ü $<�«]�, ÈH�uó² �|sÁT>·T<�\ >·T]+ºq $es�\qT ¹sFjáT  

ºçÔ�\ sÁÖ|�+ýË ^º, $Xâ¢w¾+º, |��*Ô�\ >·T]+º y�«U²«�+#á>·\T>·TÔ�&�T `

�~ d�Öº+#áT kÍeTsÁ�«+ 
1. $w�jáÖe>±V�²q 

2. d�eÖ#�sÁ HîÕ|�ÚD²«\T 

3. d�eT¿±©q n+Xæ\�|Õ ç|�Üd�Î+~+#á&�+ 

4. ç|�Xø+d�, d�T��ÔáÔáÇ+ 

 

196. After completing the Class-7, a student was able to prepare the relief 
maps with low cost-no cost material in an effective manner to 
understand the following concepts. 

1. Minerals, industries, people 
2. Civilisation, agriculture, urbanisation  
3. Consumption, supply, demand 
4. Valleys, mountains, plateaus 

7e ÔásÁ>·Ü |�P]ï#ûd¾q ÿ¿£ $<�«]�, m³Te+{ì KsÁTÌ ýñÅ£�+&� ýñ<� nÜÔáÅ£�Øe 

KsÁTÌÔÃ, ç|�uó²ee+ÔáyîT®q ¯ÜýË � ç¿ì+~y�{ì¿ì #î+~q uó²eq\qT  

ne>±V�²q #ûd�T¿=qT³Å£� »]©|�tµ eÖ«|�Ú\qT ÔájáÖsÁT#ûjáT>·*ÐH�&�T.  
1. K�ÈeTT\T, |�]çXøeT\T, ç|�È\T 

2. H�>·]¿£Ôá, e«ekÍjáT+, |�³¼D¡¿£sÁD 

3. $�jîÖ>·+, d�sÁ|��s�, &�eÖ+&� 

4. ýËjáT\T, |�sÁÇÔ�\T, |ÓsÄÁuó�ÖeTT\T 



197. The following characteristics differentiate the Social Studies teacher 
from the other teachers in school.  

1. Educational qualifications, patience and content related 
competencies. 

2. Honesty, reliability and all round development. 

3. Relevance, human relations and vast knowledge about current 
and contemporary issues. 

4. Commitment, educational qualifications and conceptual 
competencies. 

ç¿ì+~ \¿£�D²\T, bÍsÄÁXæ\ýË kÍ+|�¾T¿£Xæçd�ï �bÍ<ó�«jáTT&��, �ÔásÁ  

�bÍ<ó�«jáTT\ qT+&� yûsÁT #ûkÍïsTT. 
1. $<�«sÁ½Ôá\T, d�V�²q+ eT]jáTT $w�jáT |�]C²ãq kÍeTs��«\T. 

2. �C²sTTr, $XøÇd�újáTÔá eT]jáTT d�eTç>±_óe�~Æ 

3. ç|�d�TïÔ�qÇjáT+ (Relevance), eÖqe d�+�+<ó�\T eT]jáTT  

esÁïeÖq, d�eT¿±©q $w�jáÖ\ >·T]+ºq $d�ï�Ôá |�]C²ãq+. 

4. n+¿ìÔáuó²e+, $<�«sÁ½Ôá\T eT]jáTT uó²eH� kÍeTs��«\T 

 

  



198. One school has conducted Board examination to Class-VII students 
and did not promote some of them to next class. It comes under the 
violation of RTE Act-2009; as per this section and this chapter.  

1. Chapter VI, Section 31 (1) 

2. Chapter V, Section 30 (1) 

3. Chapter V, Section 30 (2) 

4. Chapter V, Section 29 (2) 

ÿ¿£ bÍsÄÁXæ\ 7e ÔásÁ>·Ü $<�«sÁT�\Å£� uËsÁT¦ |�̄ ¿£�qT �sÁÇV¾²+º, ¿=+ÔáeT+~ 

$<�«sÁT�\qT �|Õ ÔásÁ>·ÔáT\Å£� |�+|�¿£bþe&�+ nHû~ RTE-2009 #á³¼+ýË� 

�ç¿ì+~ n<ó�«jáT+ýË� �d¿£�H� ç|�¿±sÁeTT #á³¼ �\¢+|��Tq ç¿ì+~¿ì ed�Tï+~. 
1. n<ó�«jáTeTT VI, �d¿£�H� 31 (1) 

2. n<ó�«jáTeTT V, �d¿£�H� 30 (1) 

3. n<ó�«jáTeTT V, �d¿£�H� 30 (2) 

4. n<ó�«jáTeTT V, �d¿£�H� 29 (2) 

 

199. This projector is useful to teach students in the class room through 
power point presentation.  

1. LCD projector 

2. Over head projector 

3. Film projector 

4. Slide projector 

ÔásÁ>·Ü>·~ýË |�esYbÍsTT+{Ù ç�|È+fñw�H� <�Çs� uË~ó+#áT³Å£� �|�jîÖ>·|�&�T  

çbõCÉ¿£¼sY 
1. mýÙ.d¾.&�. çbõCÉ¿£¼sY 

2. zesY �V²&� çbõCÉ¿£¼sY 

3. |�¾ýÙ� çbõCÉ¿£¼sY 

4. �d¢í&� çbõCÉ¿£¼sY 



200. Basing on the background of the students the following strategy will 
help the newly recruited teacher, to start the lesson “Industrial 
Revolution”.  

1. Debate 

2. Reading - reflection 

3. Mind mapping 

4. Classroom Workshop 

qÖÔáq+>± �jáT$T+|��&�q �bÍ<ó�«jáTT&�T, |¾\¢\ Hû|�<�̧«+ �<ó�sÁ+>±  

»bÍ]çXæ$T¿£ $|�¢e+µ nqT bÍsÄÁeTTqT çbÍsÁ+_ó+#áT³Å£� � eP«V�²+ <ÃV�²<�+ 

#ûd�Tï+~. 
1. y�<�̀ d�+y�<�+ 

2. #á<�TeÚ³ ` ç|�Üd�Î+~+#áT³ 

3. yîT®+&� eÖ«|¾+>´ 

4. ÔásÁ>·Ü >·~ ¿±sÁ«Xæ\ 

 

 

 

 

 

 

 

 


